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Herjdjlcndj gj vjynf;e 
b 'rcgkefnfwbb

 

Bplfybt yjz,hm 1996

Cjlth;fybt
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Pfvtyztn

 

1 Erfpfybz gj nt[ybrt ,tpjgfcyjcnb =  =  =  =  =  =  =  =   2

 

1=1 J,obt cdtltybz  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =   2
1=2 Pyfxtybt cbvdjkjd b yflgbctq   =  =  =  =  =  =  =  =  =   2
1=3 Rdfkbabrfwbz b j,extybt

j,cke;bdf.otuj gthcjyfkf   =  =  =  =  =  =  =  =  =  =  = 2
1=4 Jgfcyst gjcktlcndbz ytcj,k.ltybz erfpfybq gj 

nt[ybrt ,tpjgfcyjcnb   =  =  =  =  =  =  =  =  =  =  =  =  =  = 2
1=5 Dsgjkytybt hf,jn c cj,k.ltybtv nt[ybrb 

,tpjgfcyjcnb    =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  = 3
1=6 Erfpfybz gj nt[ybrt ,tpjgfcyjcnb lkz gjnht,bntkz 

bkb j,cke;bdf.otuj gthcjyfkf   =  =  =  =  =  =  =  =  = 3
1=7 Erfpfybz gj nt[ybrt ,tpjgfcyjcnb ghb dsgjkytybb 

nt[ybxtcrjuj j,cke;bdfybz- rjynhjkmys[ jcvjnhjd b 
vjynf;f    =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  = 3

1=8 Cfvjcnjzntkmyjt gthtj,jheljdfybt
b bpujnjdktybt pfgfcys[ epkjd b ltnfktq  =  =  =  =  = 3

1=9 Ytljgecnbvst ht;bvs 'rcgkefnfwbb  =  =  =  =  =  =   3

 

2 Cjcnfdyst xfcnb ecnfyjdrb

 

/

 

j,]tv gjcnfdrb  =  =  =  4

 

2=1 J,obt cdbltybz  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  4
2=2 Aeyrwbjyfkmyst 'ktvtyns ,kjrf eghfdktybz 

 

PFU

 

 2000  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  = 5

 

3 Nt[ybxtcrbt lfyyst   =  =  =  =  =  =  =  =  =  =  =  =  =  =   6

 

3=1 Hfpvths  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =   6
3=2 Hfcibahjdrf eckjdys[ j,jpyfxtybqz  =  =  =  =  =  =   6
3=3 dtc =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =   7
3=4 Abhvtyyfz nf,kbxrf c nt[ybxtcrbvb 

[fhfrnthbcnbrfvb  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  = 7
3=5 Ecnfyjdrf  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =   7
3=6 Ljgecnbvst eckjdbz 'rcgkefnfwbb  =  =  =  =  =  =  =   7

 

4 Jcj,tyyjcnb ecnfyjdrb =  =  =  =  =  =  =  =  =  =  =  =  =   8

 

4=1 Wtktdjt yfpyfxtybt =  =  =  =  =  =  =  =  =  =  =  =  =  =  =   8
4=2 Hf,jxfz chtlf  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =   8
4=3 Dfhbfyns gjcnfdrb =  =  =  =  =  =  =  =  =  =  =  =  =  =  =   8
4=4 Aeyrwbb =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =   9

 

5 Vjynf;  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  13

 

5=1 Ecnfyjdrf  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  13
5=2 Gjlcjtlbytybt nhe,   =  =  =  =  =  =  =  =  =  =  =  =  =  =  13
5=3 "ktrnhbxtcrbt gjlcjtlbytybz =  =  =  =  =  =  =  =  =  =  14

 

6 Htuekbhjdrf

 

/

 

rjhhtrwbz   =  =  =  =  =  =  =  =  =  =  =  =   14

 

6=1 "rcgkefnfwbz ,tp 

 

PMU

 

 2000  =  =  =  =  =  =  =  =  =   14
6=2 "rcgkefnfwbz cj dcnhjtyysv ,kjrjv 

 

PMU

 

 2000   14
6=3 Htuekbhjdrf hf,jxtuj lfdktybz   =  =  =  =  =  =  =  =  = 15
6=4 Gthtrk.xfntkm nbgf 

 

DIP

 

=   =  =  =  =  =  =  =  =  =  =  =  = 15
6=5 Lbfahfuvtyysq yfgjhysq ublhj,fr =  =  =  =  =  =  =   18
6=6 Lfnxbr cbuyfkjd pfobnf jn gecrf $dce[e.$ =  =  =   19
6=7 Jgwbz% dytiytt htkt gjnjrf  =  =  =  =  =  =  =  =  =  =  20
6=8 J,vty PE nbgf 

 

EPROM

 

=  =  =  =  =  =  =  =  =  =  =  =  =   21

 

7 Ddjl d 'rcgkefnfwb.

 

/

 

cyznbt c 'rcgkefnfwbb  =  =   21

 

7=1 Vthjghbznbz- ghtlitcnde.obt gthdjyfxfkmyjve ddjle 
d 'rcgkefnfwb.    =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  = 21

7=2 Gthdjyfxfkmysq ddjl d 'rcgkefnfwb. =  =  =  =  =  =   21
7=3 Cyznbt c 'rcgkefnfwbb   =  =  =  =  =  =  =  =  =  =  =  =  22

 

8 Nf,kbwf ytbcghfdyjcntq =  =  =  =  =  =  =  =  =  =  =  =  23

9 Nt[ybxtcrjt j,cke;bdfybt  =  =  =  =  =  =  =  =  =  =  24

10 Ufhfynbz  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  24

11 Pfgfcyst epks b ltnfkb

 

/

 

ghbyflkt;yjcnb  =  =  =  =  24

12 Gjcktghjlf;yjt nt[ybxtcrjt j,cke;bdfybt  =  =  25

13 Nhfycgjhnbhjdrf   =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  25

14 Cjghjdjlbntkmyst ljrevtyns   =  =  =  =  =  =  =  =  =  25

15 Uhfabxtcrfz [fhfrnthbcnbrf =  =  =  =  =  =  =  =  =  =  26

16 Htuekbhjdrf ecnfyjdrb e gjnht,bntkz  =  =  =  =  =  27

 

16=1 <kjr 

 

PFU

 

 2000 

 

/ 

 

'rcgkefnfwbz ,tp ,kjrf 

 

PMU

 

 2000  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  = 27
16=2 Bkjr 

 

PFU

 

 2000

 

/

 

gthtrk.xfntkm nbgf 

 

DIP

 

= =  =  =  =  28
16=3 <kjr 

 

PMU

 

 2000   =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  28

 

17 Ukjccfhbq =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  =  28

 

17=1 Ghtltkmyst pyfxtybz =  =  =  =  =  =  =  =  =  =  =  =  =  =  28
17=2 Pfvtyf yfcjcjd b bcgsnfntkmysq wbrk  =  =  =  =  =  29
17=3 Dhtvz gthtrk.xtybz =  =  =  =  =  =  =  =  =  =  =  =  =  =  30
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Tlbyjt rjyajhvbntnyjt pfzdktybt

 

Abhvf UHEYLAJC pfzdkztn c bcrk.xbntkmyjq
jndtncdtyyjcnm.- xnj ghjlern

 

HYDROMULTI CHI

 

cjjndtncdetn cktle.obv lbhtrnbdfv%

 

-

 

lbhtrnbdt Cjdtnf gj eybabrfwbb ghfdjds[
ghtlgbcfybq lkz ghjbpdjlbvjuj j,jheljdfybz
ujcelfhcndfvb xktyfvb 

 

EC 89/392/EC

 

-

 

lbhtrnbdt gj 'ktrnhjvfuybnyjq cjdvtcnbvjcnb 

 

89/336/EC

 

-

 

bcgjkmpjdfyyßv tdhjgtqcrbv yjhvfv%

 

EN 292, EN 50081–1, EN 50082–2

 

Dfkmintln- 

 

1. 12. 1995 

 

ujlf

U.ynth Vfrjkkf

Lbhtrnjh ghjbpdjlcndf

 

1 Erfpfybz gj nt[ybrt 
,tpjgfcyjcnb

 

1=1 J,obt cdtltybz

 

”nj herjdjlcndj gj vjynf;e b 'rcgkefnfwbb
cjlth;bn ghbywbgbfkmyst erfpfybz- rjnjhst
ljk;ys dsgjkyznmcz ghb vjynf;t- 'rcgkefnfwbb b
nt[ybxtcrjv j,cke;bdfybb= Gj'njve gthtl
vjynf;tv b ddjljv d 'rcgkefnfwb. jyb
j,zpfntkmyj ljk;ys ,snm bpextys cktcfhtv_
c,jhobrjv- f nfr;t cjjndtncnde.obv
j,cke;bdf.obv gthcjyfkjv bkb gjnht,bntktv=
Herjdjlcndj ljk;yj gjcnjzyyj yf[jlbnmcz yf
vtcnt 'rcgkefnfwbb j,jheljdfybz=

Ytj,[jlbvj cj,k.lfnm yt njkmrj j,obt
nht,jdfybz gj nt[ybrt ,tpjgfcyjcnb- ghbdtl/yyst
d hfpltkt $Erfpfybz gj nt[ybrt ,tpjgfcyjcnb$- yj
b cgtwbfkmyst erfpfybz- ghbdjlbvst d lheub[
hfpltkf[=

 

1=2 Pyfxtybt cbvdjkjd b yflgbctq

 

Erfpfybz gj nt[ybrt
,tpjgfcyjcnb- cjlth;fobtcz d
lfyyjv herjdjlcndt gj
j,cke;bdfyb. b vjynf;e-
ytdsgjkytybt rjnjhs[ vj;tn
gjdktxm jgfcyst lkz ;bpyb b
pljhjdmz k.ltq gjcktlcndbz-
cgtwbfkmyj jnvtxtys j,obv
pyfrjv jgfcyjcnb gj cnfylfhne

 

DIN 

 

4844

 

-W

 

9

 

.

 

”njn cbvdjk Ds yfqltnt hzljv c
erfpfybzvb gj nt[ybrt
,tpjgfcyjcnb- ytdsgjkytybt
rjnjhs[ vj;tn dspdfnm jnrfp d
hf,jnt vfiby- f nfr;t b[
gjdht;ltybt=

Hzljv c 'nbv cbvdjkjv yf[jlzncz
htrjvtylfwbb bkb erfpfybz-
j,ktuxf.obt hf,jne b
j,tcgfxbdf.obt yfl/;ye.
'rcgkefnfwb. j,jheljdfybz=

 

Erfpfybz- gjvtotyyst ytgjchtlcndtyyj yf
j,jheljdfybb ljk;ys cj,k.lfnmcz d j,zpfntkmyjv
gjhzlrt b cj[hfyznmcz nfr- xnj,s b[ vj;yj ,skj
ghjxbnfnm d k.,jq vjvtyn=

 

1=3 Rdfkbabrfwbz b j,extybt
j,cke;bdf.otuj gthcjyfkf

 

Gthcjyfk- dsgjkyz.obq 'rcgkefnfwb.-
nt[ybxtcrjt j,cke;bdfybt b rjynhjkmyst
jcvjnhs- f nfr;t vjynf; j,jheljdfybz ljk;ty
bvtnm cjjndtncnde.oe. dsgjkyztvjq hf,jnt
rdfkbabrfwb.= Rheu djghjcjd- pf rjnjhst ytc/n
gfhcjyfk jndtncndtyyjcnm b rjnjhst jy ljk;ty
rjynhjkbhjdfnm- f nfr;t j,kfcnm tuj rjvgtntywbb
ljk;yf njxyj jghtltkznmcz gjnht,bntktv= Tckb
gthcjyfk yt j,kflftn ytj,[jlbvsvb pyfybzvb- nj
tuj ytj,[jlbvj cjjndtncnde.obv j,hfpjv j,exbnm
b ghjbycnhernbhjdfnm= ”nj vj;tn dsgjkyznmcz d
ckexft ytj,[jlbvjcnb bpujnjdbntktv bkb
gjcnfdobrjv j,jheljdfybz gj gjhextyb.
gjnht,bntkz= Lfktt- gjnht,bntkm ljk;ty
ghjrjynhjkbhjdfnm- xnj,s dtcm vfnfhbfk-
cjlth;fobqcz d herjdjlcndt gj 'rcgkefnfwbb-
,sk gjkyjcnm. ecdjty tuj gthcjyfkjv= 

 

1=4 Jgfcyst gjcktlcndbz 
ytcj,k.ltybz erfpfybq gj 
nt[ybrt ,tpjgfcyjcnb

 

Ytcj,k.ltybt erfpfybq gj nt[ybrt ,tpjgfcyjcnb
vj;tn gjdktxm pf cj,jq rfr jgfcyst gjcktlcndbz
lkz pljhjdmz b ;bpyb xtkjdtrf- nfr b cjplfnm
jgfcyjcnm lkz jrhe;f.otq chtls b j,jheljdfybz=
Ytcj,k.ltybt erfpfybq gj nt[ybrt ,tpjgfcyjcnb
vj;tn nfr;t cltkfnm ytltqcndbntkmysvb k.,st
nht,jdfybz gj djpvtotyb. eoth,f=
D xfcnyjcnb- ytcj,k.ltybt nht,jdfybq nt[ybrb
,tpjgfcyjcnb vj;tn- yfghbvth- dspdfnm%

 

•

 

jnrfp df;ytqib[ aeyrwbq j,jheljdfybz+

 

•

 

ytltqcndtyyjcnm ghtlgbcfyys[ vtnjljd lkz
nt[ybxtcrjuj j,cke;bdfybz b htvjynf+

 

•

 

jgfcye. cbnefwb. lkz pljhjdmz b ;bpyb
gthcjyfkf dcktlcndbt djpltqcndbz
'ktrnhbxtcrb[ bkb vt[fybxtcrb[ afrnjhjd=

DYBVFYBT

ERFPFYBT
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1=5 Dsgjkytybt hf,jn c cj,k.ltybtv 
nt[ybrb ,tpjgfcyjcnb

 

Ghb dsgjkytybb hf,jn ljk;ys cj,k.lfnmcz
ghbdtltyyst d lfyyjv herjdjlcndt gj vjynf;e b
'rcgkefnfwbb erfpfybz gj nt[ybrt ,tpjgfcyjcnb-
ceotcnde.obt yfwbjyfkmyst ghtlgbcfybz gj
nt[ybrt ,tpjgfcyjcnb- f nfr;t dctdjpvj;yst
ghtlgbcfybz gj dsgjkytyb. hf,jn- 'rcgkefnfwbb
j,jheljdfybz b nt[ybrt ,tpjgfcyjcnb-
ltqcnde.obt e gjnht,bntkz=

 

1=6 Erfpfybz gj nt[ybrt ,tpjgfcyjcnb 
lkz gjnht,bntkz bkb 
j,cke;bdf.otuj gthcjyfkf 

 

•

 

Yt ltvjynbhjdfnm yf hf,jnf.otv
j,jheljdfybb ecnfyjdktyyjt juhf;ltybt-
,kjrbhe.obt b ghtlj[hfybntkmyßt ecnhjqcndf
lkz pfobns gthcjyfkf jn gjldb;ys[ xfcntq
j,jheljdfybz=

 

•

 

Ytj,[jlbvj bcrk.xbnm djpvj;yjcnm
djpybryjdtybz jgfcyjcnb- cdzpfyyjq c
'ktrnhj'ythubtq (,jktt gjlhj,yj cvjnhb-
yfghbvth- ghtlgbcfybz 

 

VDE

 

 b vtcnys[
'ythujcyf,;f.ob[ ghtlghbznbq)=

 

•

 

Ghb ghjdtltybb nt[ybxtcrjuj j,cke;bdfybz
jnrk.xbnt j,jheljdfybt jn 'ktrnhbxtcrjq
ctnb=

 

•

 

Ghtljndhfnbnt djpvj;yjcnm drk.xtybz
ecnfyjdrb ,tp yflpjhf=

 

1=7 Erfpfybz gj nt[ybrt ,tpjgfcyjcnb 
ghb dsgjkytybb nt[ybxtcrjuj 
j,cke;bdfybz- rjynhjkmys[ 
jcvjnhjd b vjynf;f

 

Gjnht,bntkm ljk;ty j,tcgtxbnm dsgjkytybt dct[
hf,jn gj nt[ybxtcrjve j,cke;bdfyb.-
rjynhjkmysv jcvjnhfv b vjynf;e
rdfkbabwbhjdfyysvb cgtwbfkbcnfvb- ljgeotyysvb
r dsgjkytyb. 'nb[ hf,jn b d ljcnfnjxyjq vtht
jpyfrjvktyysvb c ybvb d [jlt gjlhj,yjuj
bpextybz herjdjlcndf gj vjynf;e b 'rcgkefnfwbb=

Df;yj- xnj,s dct hf,jns ghjdjlbkbcm ghb
ythf,jnf.otv j,jheljdfybt= Ljk;ty j,zpfntkmyj
cj,k.lfnmcz gjhzljr ltqcndbq jnrk.xtybz
j,jheljdfybz- jgbcfyyßq d herjdjlcndt gj
vjynf;e b 'rcgkefnfwbb=

Chfpe ;t gj jrjyxfybb hf,jn ljk;ys ,snm cyjdf
ecnfyjdktys bkb drk.xtys dct ltvjynbhjdfyyst
pfobnyst b ghtlj[hfybntkmyst ecnhjqcndf=

Gthtl gjdnjhysv ddjljv d 'rcgkefnfwb.
ytj,[jlbvj dsgjkybnm erfpfybz- ghbdtltyyst d
hfpltkt $Gthdjyfxfkmysq ddjl d 'rcgkefnfwb.$=

 

1=8 Cfvjcnjzntkmyjt gthtj,jheljdfybt
b bpujnjdktybt pfgfcys[ epkjd b 
ltnfktq

 

Gthtj,jheljdfybt bkb vjlbabrfwb. ecnhjqcnd
hfphtiftncz dsgjkyznm njkmrj gj ljujdjhtyyjcnb c
bpujnjdbntktv= Abhvtyyst pfgfcyst epks b ltnfkb-
f nfr;t hfphtityyst r bcgjkmpjdfyb.
abhvjq_bpujnjdbntktv rjvgktrne.obt
ghbyflkt;yjcnb ghbpdfys j,tcgtxbnm yflt;yjcnm
'rcgkefnfwbb= Ghbvtytybt epkjd b ltnfktq lheub[
ghjbpdjlbntktq vj;tn dspdfnm jnrfp
bpujnjdbntkz ytcnb jndtncndtyyjcnm pf djpybribt
d htpekmnfnt 'njuj gjcktlcndbz=

 

1=9 Ytljgecnbvst ht;bvs 
'rcgkefnfwbb

 

”rcgkefnfwbjyyfz yflt;yjcnm gjcnfdkztvjuj
j,jheljdfybz ufhfynbhetncz njkmrj d ckexft
ghbvtytybz d cjjndtncndbb c aeyrwbjyfkmysv
yfpyfxtybtv= Ghtltkmyj ljgecnbvst pyfxtybz-
erfpfyyst d nt[ybxtcrb[ [fhfrnthbcnbrf[- yt
ljk;ys ,snm ghtdsitys yb d rjtv ckexft= (cvjnhb
cjjndtncnde.obt hfpltks herjdjlcndf gj
'rcgkefnfwbb)=
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2 Cjcnfdyst xfcnb ecnfyjdrb

 

/

 

j,]tv gjcnfdrb

 

2=1 J,obt cdbltybz

 

Ecnfyjdrf lkz gjdsitybz lfdktybz 

 

HYDROMULTI
CHI

 

- ghtlcnfdkztn cj,jq rjvgfrnye. yfcjcye.
cnfywb.- jcyfotyye. gj gjnht,yjcnb 2-4
yfcjcfvb cthbb 

 

CHI

 

 2

 

/

 

4

 

/

 

8 bkb 12=
Yfcjcyfz cnfywbz j,jheljdfyf hf,jnf.obv d
gjkyjcnm. fdnjvfnbxtcrjv ht;bvt
vbrhjghjwtccjhysv eghfdktybtv lkz drk.xtybz

 

/

 

jnrk.xtybz yfcjcjd d pfdbcbvjcnb jn hfc[jlf
djls- f nfr;t ghb djpybryjdtybb nt[ybxtcrb[
ytbcghfdyjcntq bkb pfdbcbvjuj jn dhtvtyb
gthtrk.xtybz hf,jnf.ob[ yfcjcjd=
Ecnfyjdrf gjlujnjdktyf rfr lkz
ytgjchtlcndtyyjuj- nfr b lkz ytghzvjuj
gjlrk.xtybz cjukfcyj 

 

DIN

 

 1988=

 

"rcgkbrfwbz% ecnfyjdrf 
(j,]tv cnfylfhnyjq gjcnfdrb)

 

1 Gthtlyzz gfytkm ,kjrf eghfdktybz 

 

PFU

 

 2000

 

/

 

4
2 "ktrnhjirfa- drk.xfz 

 

PFU

 

 2000

 

/

 

4
3 Kbytqysq dsrk.xfntkm
4 Yfcjcs
5 Vtv,hfyysq yfgjhysq htpthdefh 18k 

 

/

 

 10,fh
6 Wjrjkm jcyjdfybz
7 Pfgjhyfz fhvfnehf (cj cnjhjys yfuytnfybz

 

/

 

dcfcsdfybz)
8 Djpdhfnysq rkfgfy (gj jlyjve yf rf;lsq

yfcjc)
9=1 Vfyjvtnh cj cnjhjys yfuytnfybz
10 Lfnxbr lfdktybz lkz drk.xtybz

 

/

 

jnrk.xtybz 
(4

 

-

 

20 vf)
11 Gjlcjtlbytybt lkz pfobns jn gecrf

 

 "

 

dce[e.

 

"

 

(cnjhjyf dcfcsdfybz)% 14=1
12 Gjlcjtlbytybt lkz pfobns jn gecrf

 

 "

 

dce[e.

 

"

 

(cnjhjyf yfuytnfybz)% 14=2

 

Ghbyflkt;yjcnb (dcnhfbdf.ncz gj pfrfpe yf
pfdjlt-bpujnjdbntkt)

 

9=2 Vfyjvtnh lkz cnjhjys dcfcsdfybz
13 Rf,tkm gbnfybz jn ctnb c cbkjdjq dbkrjq 

(5

 

-

 

gjk.cysq

 

/

 

16F bkb 32F- lkbyf 1,75v)
14 Lfnxbr cbuyfkf pfobns jn gecrf "dce[e." %
14=1 Htkt lfdktybz FF 4-4 cnjhjyf dcfcsdfybz

(,tcgjntywbfkmyjt)
14=2 Htkt lfdktybz FF 4-8 cnjhjyf yfuytnfybz

(,tcgjntywbfkmyjt)

Ghbyflkt;yjcnb (vjuen ,snm dcnhjtys pfrfpxbrjv
ljgjkybntkmyj)

14=3 Htkt gjnjrf
14=4 Gjgkfdrjdsq dsrk.xfntkm
14=5 Cbcntvf 'ktrnhjlyjuj eghfdktybz- 

cjcnfzofz bp%
• 3 gjuhe;ys[ 'ktrnhjljd
• rf,tkz lkz gjlrk.xtybz 'ktrnhjljd
• htkt 'ktrnhjljd (gj ds,jhe c rj;e[jv bkb

lkz vjynf;f d 'ktrnhjirfa 2)

Ghbyflkt;yjcnb (ghbujlyst lkz dyenhtyytuj b
yfhe;yjuj vjynf;f)

15 PMU 2000- hfcgjkj;tybt gj ds,jhe%
• d 'ktrnhjirfae dvtcnj gthtlytq gfytkb
,kjrf eghfdktybz

• pf ghtltkfvb ecnfyjdrb
16 PCU 2000- hfcgjkj;tybt pf ghtltkfvb

ecnfyjdrb
Lfnxbrb cbuyfkjd pfobns jn
gecrf "dce[e." jnyjczncz r
ghbyflkt;yjcnzv= Ghb pfrfpt
erfpsdfqnt ye;ysq Dfv- d
pfdbcbvjcnb jn dblf ghbvbytybz-
nbg=

ERFPFYBT

A
50

00
26

6

1

2

5

3

7

9=1

10/12/14=2

8

9=2/11/14=1

4

6

cnjhjyf yfuytnfybz

cnjhjyf dcfcsdfybz
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2=2 Aeyrwbjyfkmyst 'ktvtyns ,kjrf 
eghfdktybz PFU 2000

Gthtlyzz gfytkm

"rcgkbrfwbz 
(Gjlhj,yst lfyyst cvjnhb 'ktrnhjc[tve)

1=1 Cdtnjlbjl ytbcghfdyjcntq (rhfcysq)
1=2 Cdtnjlbjl 'rcgkefnfwbb (ptktysq)
1=3 Rkfdbif c,hjcf
1=4 Gthtrk.xfntkm DIP 1 (rjlbhe.obq

dsrk.xfntkm)
1=5 Gthtrk.xfntkm DIP 2 (rjlbhe.obq

dsrk.xfntkm)
1=6 Gthtrk.xfntkm dblf hf,jn "AUS-AUTO-MAX" c

htuekbhjdrjq pflfyyjuj pyfxtybz
1=7 Ghtlj[hfybntkm cbcntvs eghfdktybz 5[20 vv /

bythnysq 50 vF
1=8 Rktvvjdjt gjlrk.xtybt gjlgjhf/rjytxyjuj

lfdktybz
1=9 Rktvvjdjt gjlrk.xtybt cbuyfkbpfwbb

ytbcghfdyjcntq/yf[j;ltybz d 'rcgkefnfwbb
1=10Rktvvjdjt gjlrk.xtybt cdtnjlbjljd-

rkfdbib c,hjcf (,kjr eghfdktybz)
1=11 Rktvvjdjt gjlrk.xtybt nhfrnf gthtlfxb

lfyys[ BUS
1=12 Rktvvjdjt gjlrk.xtybt fyfkjujdjuj d[jlyjuj

cbuyfkf
1=13 Rktvvjdjt gjlrk.xtybt htkt pfobns

ldbufntkz
1=14Rktvvjdjt gjlrk.xtybt gbnfybz jn ctnb
1=15 PE nbgf EPROM

Dyenhtyytt gjlrk.xtybt-/rjlbhe.obt 'ktvtyns (gkfns)

Reset

T
M

00
29

33

Ytbcghfdyjcnm  1=1

"rcgkefnfwbz   1=2
1=3

A
50

00
25

9

R
A

M

1=7 1=14 1=13

1=11

1=4

1=5

1=6

1=10 1=8 1=12 1=15 1=9
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3 Nt[ybxtcrbt lfyyst

3=1 Hfpvths

* ghb bcgjkytybb bp yth;fdt.otq cnfkb hfpvths
A b T evtymif.ncz yf 10vv

Ljgecnbvst jnrkjytybz Y: +/- 20vv
ghjxbb: +/- 10vv

3=2 Hfcibahjdrf eckjdys[ 
j,jpyfxtybqz

yfghbvth%

Hfpvth Ecnfyjdr
2 yfcjcf
CHI  2/4
(CHI 8/12)

3 yfcjcf
CHI  2/4
(CHI 8/12)

4 yfcjcf
CHI  2/4
(CHI 8/12)

A* 230 (260) 230 (260) 230 (260)
B 600 900 1200
C 370 370 370
D 620 (640) 620 (640) 620 (640)
E 185 185 185
H 1200 1200 1200
T* 800 (820) 800 (820) 800 (820)

HYDROMULTI  2 CHI 4-60 B / B S 0S

Nbg

Rjkbxtcndj yfcjcjd

Nbg yfcjcf

Vfnthbfk pfgjhyjq fhvfnehs
- Yth;fdt.ofz cnfkm (N)
- Wdtnyjq vtnfkk (B)

Nbg eghfdktybz
- Cgjcj,ysq gthtlfdfnm lfyyst PFU (B)
- "ktrnhjvt[fybxtcrjt eghfdktybt (C)

Dbl eghfdktybz
- Rfcrflyjt htuekbhjdfybt (S)

J,]tv gjcnfdrb:
0* - PFU/4 c gthtlytq gfytkm. ,tp cnfylfhnyj

ecnfyfdkbdftvjq pfobns jn gecrf dce[e. 
(c bvt.obvcz d yfkbxbb vtcnjv gjlcjtlbytybz
rjynfrnf)

1 - PFU/4 c gthtlytq gfytkm.- c cnfylfhnyj
ecnfyfdkbdftvsv htkt rjynhjkz ehjdyz- lkz
pfobns jn gecrf "dce[e." [gjuhe;yst
'ktrnhjls (cvjnhb ghbyflkt;yjcnb) pfrfpsdfnm
jnltkmyj]

2* - PFU/4 c PMU- ,tp cnfylfhnyj ecnfyfdkbdftvjq
pfobnjq jn gecrf "dce[e." (c bvt.obvcz d
yfkbxbb vtcnjv gjlcjtlbytybz rjynfrnf)

3 - PFU/4 c PMU- cj cnfylfhnyj ecnfyfdkbdftvjq
pfobnjq jn gecrf "dce[e." [gjuhe;yst
'ktrnhjls (cvjnhb ghbyflkt;yjcnb) pfrfpsdfnm
jnltkmyj]

* Gjgkfdrjdsq dsrk.xfntkm b htkt lfdktybz
gjcnfdkz.ncz gj ;tkfyb.% dcnhjtyysvb- c
gjkyjcnm. ghjbpdtltyysv 'ktrnhjvjynf;tv
bkb jnltkmyj (ghbyflkt;yjcnb)

H

B

D

A

M

A C

T

A
 5

00
02

67
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3=3 dtc

3=4 Abhvtyyfz nf,kbxrf c 
nt[ybxtcrbvb [fhfrnthbcnbrfvb

Yf j,jheljdfybb yf[jlbncz abhvtyyfz nf,kbxrf c
nt[ybxtcrbvb [fhfrnthbcnbrfvb- nht,etvsvb lkz
gjlrk.xtybz b ghbvtytybz=

3=5 Ecnfyjdrf

Ehjdtym pderf yfcjcjd c 'ktrnhjldbufntkzvb
abhvs UHEYLAJC

3=6 Ljgecnbvst eckjdbz 'rcgkefnfwbb
Ntvgthfnehf hf,jxtq chtls% vfrc.+40 °C
Ntvgthfnehf jrhe;f.otq chtls% +5 °C - 40 °C
Hf,jxtt lfdktybt% vfrc= 10 ,fh

Vbybvfkmyjt lfdktybt dgecrf

Vbybvfkmyjt lfdktybt dgecrf lkz djls
ytcjlth;fotq djple[f = 

pyfxtybt LGYD [fhfrnthbcnbrb yfcjcf
+ ghjxbt gjnthb 
+ ufhfynbhjdfyysq pfgfc 0-5 v

nbg
HYDROMULTI

dtcs 
(ru)

nbg
HYDROMULTI

dtcs 
(ru)

2 CHI 2-20
-30
-40
-50
-60

70
71
73
75
76

2 CHI 4-20
-30
-40
-50
-60

72
73
75
78
79

3 CHI 2-20
-30
-40
-50
-60

83
84
87
90
92

3 CHI 4-20
-30
-40
-50
-60

102
106
110
116
118

4 CHI 2-20
-30
-40
-50
-60

92
93
95
96
98

4 CHI 4-20
-30
-40
-50
-60

115
117
119
120
121

nbg
HYDROMULTI

dtcs 
(ru)

nbg
HYDROMULTI

dtcs 
(ru)

2 CHI 8-10
-15

-20
-25
-30

76
77
82
84
86

2 CHI 12-10
-15

-20
-25
-30

78
89
94
101
102

3 CHI 8-10
-15

-20
-25
-30

105
108
110
113
120

3 CHI 12-10
-15

-20
-25
-30

109
112
122
124
126

4 CHI 8-10
-15

-20
-25
-30

118
121
122
123
128

4 CHI 12-10
-15

-20
-25
-30

122
125
139
142
144

Ghjbpdjlbntkmyjcnm% vfrc= 42v3/x 
(,tp pfgfcyjuj yfcjcf)

Dscjnf wjlfxb% vfrc= 56 v
Ntvgthfnehf 
jrhe;f.otq chtls% 40 °C
Ntvgthfnehf 
hf,jxtq chtls%

25 °C cjukfcyj DIN 1988- 
byfxt 70 °C

Lfdktybt d cbcntvt% vfrc= 10 ,fh
Xbckj j,jhjnjd% 2850 1/vby=
Hf,jxtt yfghz;tybt% 3[400D/50Uw
Dbl gjlrk.xtybz 
'ktrnhjldbufntktq%

ytgjchtlcndtyyjt 
gjlrk.xtybt

Dbl pfobns 
("ktrnhjirfa)% IP 54
Ehjdtym gjvt[ 
hflbjghbtvf% N

"ktrnhjvfuybnyfz 
cjdvtcnbvjcnm%

EN 50 081-1
EN 50 082-2

”ktrnhjldbufntkm
 (rDn)

50 Uw 
(l< # F)

0,25 56

0,37 56

0,55 57

0,75 56

1,1 57

1,5 65

2,2 65

3,0 65

4,0 66
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Vfrcbvfkmyjt lfdktybt dgecrf

Ecnfyjdrb lkz gjdsitybz lfdktybz hfccxbnfys yf
vfrcbvfkmyjt rjytxyjt lfdktybt d 10 ,fh=
Vfrcbvfkmyj ljgecnbvst pyfxtybz lfdktybz
dgecrf lkz ecnfyjdrb pfdbczn jn cntgtyb lfdktybz
ghbvtytyjuj yfcjcf CHI (cvjnhb cnh= 19 / nf,kbwf)

4 Jcj,tyyjcnb ecnfyjdrb

4=1 Wtktdjt yfpyfxtybt
Yfcjcyfz cnfywbz cke;bn lkz djljcyf,;tybz b
gjdsitybz lfdktybz (gbnmtdfz b nt[ybxtcrfz djlf)
d ;bks[ b flvbybcnhfnbdys[  plfybz[- f nfr;t d
ghjvsiktyyjcnb=

K.,jt bcgjkmpjdfybt j,jheljdfybz-
ds[jlzott pf 'nb hfvrb- cxbnftncz
yt cjjndtncnde.obv ecnfyjdktyysv
eckjdbzv 'rcgkefnfwbb= Abhvf
UHEYLAJC yt ytctn jndtncndtyyjcnm
pf eoth,- djpybribq d htpekmnfnt
nfrjuj bcgjkmpjdfybz= "njn hbcr
gjkyjcnm. gtht[jlbn yf gjnht,bntkz=

4=2 Hf,jxfz chtlf
:blrfz- dphsdj,tpjgfcyfz chtlf ,tp f,hfpbdys[
bkb lkbyyjdjkjrybcns[ 'ktvtynjd= Hf,jxfz chtlf
yt ljk;yf ,snm [bvbxtcrb fuhtcbdyjq gj
jnyjityb. r vfnthbfkfv ltnfktq yfcjcf=

Tckb ghtlgjkfuftncz gthtrfxbdfnm
;blrjcnm- gkjnyjcnm b/bkb
dzprjcnm rjnjhjq jnkbxftncz jn
gfhfvtnhjd djls- nj dcktlcndbt
bpvtytybz ublhfdkbxtcrjq
vjoyjcnb ytj,[jlbvj exbnsdfnm
nht,etve. d 'njv ckexft
vjoyjcnm 'ktrnhjldbufntkz=

4=3 Dfhbfyns gjcnfdrb
Nbgjdjq hzl HYDROMULTI CHI  vj;tn gjcnfdkzncz
d hfpkbxys[ dfhbfynf[= Ukfdysv j,hfpjv jyb
cjcnjzn bp%

• 2-4 yfcjcjd cthbb CHI2- CHI4- CHI8- bkb CHI12-

• Pfgjhyjq fhvfnehs- gj ds,jhe bp
[hjvjybrtktdjq cnfkb bkb kfneyb- pfgjhyjuj
rkfgfyf bp POM

• "ktrnhjirfa c eghfdktybtv drk.xtybz/
dsrk.xtybz yfcjcjd d pfdbcbvjcnb jn
gjnht,yjcnb (rfcrflyjt eghfdktybt) c%

Dfhbfyn 0 = PFU/4 c gthtlytq gfytkm.
Dfhbfyn 1 = PFU/4 c gthtlytq gfytkm. b htkt 

gjuhe;ys[ 'ktrnhjljd
Dfhbfyn 2 = PFU/4 b PMU
Dfhbfyn 3 = PFU/4- PMU b htkt gjuhe;ys[ 

'ktrnhjljd
(rjlbhjdfybt cjukfcyj Hfcibahjdrt eckjdys[
j,jpyfxtybq)

4=3=1 HYDROMULTI CHI ===/=== Dfhbfyns 0 b 1

Ecnfyjdrb 'nb[ nbgjd cyf,;tys ,kjrjv
eghfdktybz PFU 2000/4 (Pump Funktion Unit)=
"njn ,kjr eghfdktybz htuekbhetn hf,jne 4
yfcjcjd (vfrcbvev)= Jy hfcgjkjuftn htuekbhjdrjq
pflfyyjuj pyfxtybz- gthtrk.xtybt htuekznjhf
dhtvtyyjq [fhfrnthbcnbrb- d[jl fyfkjujdjuj
cbuyfkf lkz bpvthtybz lfdktybz- dsrk.xfntkm ghb
ytljcnfnjxyjv j,]tvt djls bkb htkt gjnjrf
(cvjnhb ds,jh d ukfdt 4=4=8) 
Yf ldthb 'ktrnhjirfaf hfcgjkj;ty
cjjndtncnde.obq ,kjr eghfdktybz- rjnjhsq
drk.xftn d ct,z gj jlyjq kfvgjxrt hf,jxtq b
fdfhbqyjq cbuyfkbpfwbq- f nfr;t rkfdbie c,hjcf
lkz rdbnbhjdfybz nt[ybxtcrb[ ytbcghfdyjcntq=

4=3=2 HYDROMULTI CHI ===/=== Dfhbfyns 2 b 3

Ecnfyjdrb 'nb[ nbgjd drk.xf.n d ct,z gjvbvj
,fpbcyjq dthcbb PFU 2000/4 hfcibhtyysq ,kjr
eghfdktybz PMU 2000 (Pump Management Unit)=
"njn ,kjr eghfdktybz dcnhjty d ldthm
'ktrnhjirfaf b hfcgjkjuftn ljgjkybntkmysvb
djpvj;yjcnzvb gj j,cke;bdfyb. b htuekbhjdrt
ecnfyjdrb lkz gjdsitybz lfdktybz=
Bylbrfwbz hf,jxtuj cjcnjzybz- f nfr;t
cbuyfkbpfwbz nt[ybxtcrb[ ytbcghfdyjcntq
ghjbc[jlbn c gjvjom. lde[cnhjxyjuj lbcgktz b
xthtp kfvgjxrb hf,jxtq b fdfhbqyjq cbuyfkbpfwbq=
Rjvveybrfwbz vt;le PFU b PMU ghjbc[jlbn gj
nhfrne gthtlfxb lfyys[ (BUS)= Bjktt gjlhj,ye.
byajhvfwb. cvjnhb d Herjdjlcndt gj
'rcgkefnfwbb PMU=

ERFPFYBT

DYBVFYBT
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4=4 Aeyrwbb

4=4=1 J,obt cdtltybz

C gjvjom. vbrhjghjwtccjhyjuj eghfdktybz PFU 2000/
4 gjpbwbz 1 byntuhbhjdfyyjuj d 'ktrnhjirfa gjpbwbz
2- ghjbc[jlbn j,cke;bdfybt- htuekbhjdrf- f nfr;t
rjynhjkm cbcntvs lkz gjdsitybz lfdktybz=
Pflfyyjt pyfxtybt lfdktybz ecnfyfdkbdftncz gjckt
jnrhsnbz ldthb 'ktrnhjirfaf yf gkfnt PFU 2000=
Lfdktybt d cbcntvt ,eltn gjllth;bdfnmcz d pflfyys[
ghtltkf[ c gjvjom. pfdbczotuj jn hfc[jlf djls
drk.xtybz b dsrk.xtybz hf,jxb[ yfcjcjd=

Lkz ghbgfcjdrb cbcntvs r vtcnysv eckjdbzv
'rcgkefnfwbb vj;yj ecnfyjdbnm hfpkbxyjt dhtvz
cbcntvs=
Rhjvt 'njuj vj;yj ghbyznm dj dybvfybt
rj'aabwbtyn gjktpyjuj ltqcndbz cbcntvs
nhe,jghjdjlf- 'nj jpyfxftn gjyb;tybt pflfyyjuj
pyfxtybz ghb Q = 0v3/x lj 90 % pflfyyjuj pyfxtybz
ghb Q = vfrc=
Fdnjvfnbxtcrjt gthtrk.xtybt yfcjcjd
j,tcgtxbdftn jlbyfrjdjt rjkbxtcndj xfcjd
hf,jns lkz rf;ljuj bp yfcjcjd=
Ghb ytpyfxbntkmyjv pf,jht djls ecnfyjdrf
gthtrk.xftncz fdnjvfnbxtcrb yf 'rjyjvzobq
'ktrnhj'ythub. ghthsdbcne. hf,jne=

"njn ghjwtcc vj;tn gjdnjhznmcz
gjcnjzyyj ghb ytvtyz.otqcz
[fhfrnthbcnbrt djljpf,jhf=

Ghb ytpyfxbntkmyjv pf,jht djls yfcjc
jnrk.xftncz gjkyjcnm. b drk.xftncz njkmrj yf
rjhjnrjt dhtvz lkz gjllth;rb lfdktybz d
cbcntvt=
Lkz pfobns jn gecrf "dce[e." ghb lfdktybb
dgecrf yb;t 1 ,fhf vj;yj ecnfyjdbnm htkt
lfdktybz- gjgkfdrjdsq dsrk.xfntkm bkb
'ktrnhjlyjt htkt c gjuhe;ysvb 'ktrnhjlfvb=
Hf,jxtt cjcnjzybt b nt[ybxtcrbt ytbcghfdyjcnb
cbuyfkbpbhe.ncz b gthtlf.ncz lfkmit d rfxtcndt
,tcgjntywbfkmyjuj cbuyfkbpfwbz=

Lfkmytqie. byajhvfwb. cvjnhb ukfde
4=4=6

Jgnbvbpfwbz hf,jns cbcntvs djpvj;yj ghb%

• gjlrk.xtybb cthdbcyjq xfcnb PMU 2000 ghb
dpznbb ecnfyjdrb d 'rcgkefnfwb.- c gjvjom.
rjnjhjq vj;yj bpvtybnm ,fpbcyst gfhfvtnhs
lfyys[ PFU (jgnbvfkmye. rjyabuehfwb.) bkb

• ljgjkybnm cbcntve eghfdktybz ghjxyj
vjynbhjdfyysv ,kjrjv PMU 2000 yf ldthm
'ktrnhjirfaf- bpvtyztvst lfyyst rjnjhjuj-
ghjbpdjlzn htuekbhjdre ecnfyjdrb=

Lfkmytqie. byajhvfwb. cvjnhb
Bycnherwb. gj 'rcgkefnfwbb PMU 2000

4=4=2 Dbl 'rcgkefnfwbb

C gjvjom. dyenhtyytuj gthtrk.xfntkz dblf
'rcgkefnfwbb 1=5 d ,kjrt PFU 2000/4 vj;yj
gthtrk.xbnm ecnfyjdre yf 1 bp nht[ djpvj;ys[
dbljd 'rcgkefnfwbb b ecnfyjdbnm ytj,[jlbvjt
pflfyyjt pyfxtybt ecnfyjdrb%

Gjlhj,yfz byajhvfwbz cvjnhb ukfde 6

4=4=3 Hf,jnf d fdnjvfnbxtcrjv ht;bvt

J,ofz ublhfdkbxtcrfz vjoyjcnm ecnfyjdrb
hfpltktyf (d pfdbcbvjcnb jn nbgf) yf 2-4 yfcjcf-
ghbxtv j,ott lfdktybt cbcntvs htubcnhbhetncz c
gjvjom. xedcndbntkmyjuj 'ktvtynf lfdktybz=
Dsrk.xtybt b drk.xtybt rf;ljuj jnltkmyjuj
yfcjcf ghjbc[jlbn gj gjnht,yjcnb xthtp
htuekbhetvjt pyfxtybt "pflfyys[  pyfxtybb" b
jnyjczobvcz r ytve ghtltkmysv pyfxtybtv Hdsrk
(ghb rjnjhjv ghjbc[jlbn dsrk.xtybt yfcjcf)%

• Tckb lfdktybt d cbcntvt gflftn yb;t
ecnfyjdktyyjuj pflfyyjuj pyfxtybz-
ghjbc[jlbn fdnjvfnbxtcrjt drk.xtybt yfcjcjd-
rjnjhst jcnf.ncz drk.xtyysvb lj ljcnb;tybz
pflfyyjuj pyfxtybz=

• Tckb lfdktybt d cbcntvt gjdsiftncz (ghb
gflf.otv rjkbxtcndt gjlfxb) b ljcnbuftn
ghtltkmyj ljgecnbvjt pyfxtybt Hdsrk-
ghjbc[jlbn jnrk.xtybt yfcjcjd lj
ljcnb;tybz lfdktybtv d cbcntvt lbfgfpjyf
htuekbhjdfybz=

D ecnfyjdrf[ ,tp ,kjrf PMU 2000 djpvj;ys ldf
dblf 'rcgkefnfwbb d pfdbcbvjcnb jn htuekbhjdrb
gthtrk.xfntkz nbgf DIP 1/5%

ERFPFYBT

Gjkj;tybt " 0"  (gjdjhjn 
yfktdj lj jnrfpf)%

Ecnfyjdrf dsrk.xtyf- 
rkfdbif c,hjcf 
ytbcghfdyjcntq

Gjkj;tybt " 0-100%"  
(chtlybq lbfgfpjy 
htuekbhjdrb pflfyys[ 
pyfxtybq)%

Ecnfyjdrf hf,jnftn d 
fdnjvfnbxtcrjv ht;bvt= 
Drk.xtybt b dsys[ 
pyfxtybq%    rk.xtybt 
yfcjcjd ghjbc[jlbn gj 
gjnht,yjcnb (d pfdbcbvjcnb 
jn [fhfrnthbcnbrb 
djljgjnht,ktybz) (cvjnhb 
ukfde 4=4=3)

Gjkj;tybt "MAX"  
(gjdjhjn yfghfdj lj 
jnrfpf)%

- Ecnfyjdrf hf,jnftn 
gjcnjzyyj- dct yfcjcs 
hf,jnf.n ytghthsdyj

- dct aeyrwbb rjynhjkz d 
ltqcndbb

- dytiybt eghfdkz.obt 
aeyrwbb ,kjrbhjdfys
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ON = dhtvz cbcntvs ",scnhj" - 'rcgkefnfwbz
cjukfcyj lfyys[ PE nbgf EPROM ,kjrf
PFU 2000- djpvj;yf htuekbhjdrf
pflfyyjuj pyfxtybz b rj'aabwbtynf
gjktpyjuj ltqcndbz (RGL) nhe,jghjdjlyjq
ctnb=

OFF = dhtvz cbcntvs "vtlktyyj" hf,jnf yf
jcyjdfybb pfgbcfyys[ lfyys[ ,kjrf PFU
2000= Lfyyst PE ,kjrf PFU 2000 gjllf.ncz
bpvtytyb. ghb dhtvtyyjv gjlrk.xtybb
cthdbcyjuj ,kjrf PMU 2000= 

Ghbywbg htuekbhjdrb 
(cj cnfylfhnysv ,kjrjv lfyys[)

PA - Lfdktybt dsrk.xtybz gjcktlytuj yfcjcf
(Hdsrk)

Hsoll - Pflfyyjt pyfxtybt (htuekbhetvjt pyfxtybt
dyenhtyytuj gjntywbjvtnhf)

Hov - Yektdfz dscjnf gjlfxb yfcjcjd
(dsxbcktyyjt pyfxtybt)

Hv - Gjlgjh d cbcntvt
Pv - Lfdktybt gjlgbnrb d vtv,hfyyjv yfgjhyjv

htpthdefht
n - Rjkbxtcndj hf,jnf.ob[ yfcjcjd

Lfkmytqie. byajhvfwb. cvjnhb ukfde
17 $Ukjccfhbq$ 

4=4=4 Pfobnf jn gecrf "dce[e." 

(cvjnhb htuekbhjdre gthtrk.xfntkz nbgf
DIP 1+2- cnhfybwf 16)

"rcgkefnfwbz ecnfyjdrb ,tp
pfobns jn gecrf "dce[e." yt
ljgecrftncz=

Tckb lfdktybt gjlgjhf yt ljcnbuftn vjvtynf
drk.xtybz yf htkt lfdktybz/ehjdyz- ecnfyjdrf
jnrk.xftncz b ghtlj[hfyztncz nfrbv j,hfpjv jn
hf,jns "dce[e." = 

D pfdbcbvjcnb jn dblf ghbvtytybz djpvj;ty
ds,jh vt;le hfpkbxysvb cgjcj,fvb pfobns jn
gecrf "dce[e." %

htuekbhjdrf- cvjnhb ukfde 6

4=4=4=1 Ghb ytgjchtlcndtyyjv cjtlbytybb

D 'njv ckexft gjdnjhyjuj drk.xtybz
yfcjcjd gjckt chf,fnsdfybz pfobns
jn gecrf "dce[e." yt ghjbc[jlbn=
Gecr ecnfyjdrb ghjbpdjlbncz
yf;fnbtv rkfdbib c,hjcf 1=3=
Lth;fnm rkfdbie yf;fnjq lj
djccnfyjdktybt lfdktybz=

4=4=4=2 Ghb ytghzvjv cjtlbytybb

• "ktrnhjlyst htkt gjpbwbz 14=5
(ghbyflkt;yjcnb) bkb

• Gjgkfdrjdjq dsrk.xfntkm gjpbwbz 14=4
(ghbyflkt;yjcnb)

Ghb ytljcnb;tybb pflfyyjuj ehjdyz ecnfyjdrf
jnrk.xftncz fdnjvfnbxtcrb= Ghb ljcnb;tybb
ytj,[jlbvjuj ehjdyz ecnfyjdrf drk.xftncz
fdnjvfnbxtcrb=

4=4=5 Pfobnf ldbufntkz

Pfobnf ldbufntkz ghjbc[jlbn c gjvjom. htkt
pfobns ldbufntkz (gj jlyjve yf rf;lsq yfcjc)=
Ghb ds[jlt bp cnhjz jlyjuj bp yfcjcjd ghjbc[jlbn
fdnjvfnbxtcrjt gjlrk.xtybt htpthdyjuj yfcjcf=

A
50

00
26

8

vfrcbvfkmysq ghtltk

rjytxyjt lfdktybt P [,fh]

lbfgfpjy htuekbhjdrb

10

H0
PA 1

PA

Hsoll

Hvor

0

1 yfcjc 2 yfcjcf 3 yfcjcf

gjlfxf Q [v3/x]

DYBVFYBT

• ghb pyfxtybb 
gjlgjhf dsit 1 
,fh

Htkt lfdktybz ecnfyfdkbdftncz 
yf cnjhjyt dcfcsdfybz

• ghb pyfxtybb 
gjlgjhf yb;t 
1 ,fh

Htkt lfdktybz ecnfyfdkbdftncz 
yf cnjhjyt yfuytnfybz

DYBVFYBT
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4=4=6 Cbuyfkbpfwbz/gthtrk.xtybt ddble 
nt[ybxtcrjq ytbcghfdyjcnb

Hf,jxtt cjcnjzybt b nt[ybxtcrbt ytbcghfdyjcnb
bylbwbhe.ncz c gjvjom. rhfcyjuj/ptktyjuj
cdtnjlbjljd yf gthtlytq gfytkb=

Nt[ybxtcrbt ytbcghfdyjcnb%

ujhbn rhfcysq cdtnjlbjl 1=1%

• Yfheitybt d hf,jnt 'ktrnhjldbufntkz

• Ytljcnfxf djls

• Ytbcghfdyjcnm xedcndbntkmyjuj 'ktvtynf

• Ljcnbuyen vfrcbvfkmysq ghtltk (njkmrj
cbuyfkbpfwbz)

Bylbrfwbb cjcnjzybz hf,jns b j,otuj fdfhbqyjuj
cbuyfkf ghjbpdjlbncz ,tcgjntywbfkmysv
db,hjrjynfrnjv=

Gjckt ecnhfytybz ytbcghfdyjcntq rhfcysq
cdtnjlbjl ghjljk;ftn cdtnbncz lj nt[ gjh- gjrf
yt ghjbpjqltn rdbnbhjdfybt ljytctybz c gjvjom.
rkfdbib 1=3=
Gj jrjyxfybb ythf,jxtuj cjcnjzybz (d dble
ytljcnfnrf djls)- fdnjvfnbrf ghjbpdjlbn gjgsnrb
drk.xbnm ecnfyjdre pfyjdj%

• 1 hfp gjckt 5 vbyen

• 3 hfpf rf;lst 30 vbyen

• gjckt 'njuj 1 hfp rf;lst 24 xfcf

Tckb ytbcghfdyjcnm tot yt ecnhfytyf- ghjbc[jlbn
vjvtynfkmyjt jnrk.xtybt ecnfyjdrb=
Ghb jnrk.xtybb ytbcghfdyjuj yfcjcf ghb gjvjob
htkt pfobns ldbufntkz- ghjbc[jlbn
fdnjvfnbxtcrjt gjlrk.xtybt htpthdyjuj yfcjcf=

Hf,jnf%

ptktysq cdtnjlbjl 1=2%

• ujhbn % vbybvev jlby yfcjc hf,jnftn

• vbuftn% Ecnfyjdrf ujnjdf r 'rcgkefnfwbb-
drk.xty kbytqysq dsrk.xfntkm

Reset

T
M

00
29

33

Ytbcghfdyjcnm  1=1

"rcgkefnfwbz   1=2
1=3
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4=4=6=1 J,pjh cbuyfkbpfwbb/gthtrk.xtybz ytbcghfdyjcntq

4=4=7 Htuekbhjdrf gjcnjzyysq/ghjuhtccbdysq 
(c[tvfnbxtcrjt bpj,hf;tybt)

ds[jls lbjlysq cbuyfk jgbcfybt
hf,jnf ytbcghfdyjcnm hf,jnf 

(ptktysq)
ytbcghfdyjcnm

 (rhfcysq)
yt ujhbn yt ujhbn Gbnf.ott yfghz;tybt dsrk.xtyj

ujhbn 
gjcnjzyyj

yt ujhbn Vbybvev 1 yfcjc hf,jnftn

vbuftn yt ujhbn J,f yfcjcf dsrk.xtys= Dsrk.xtybt ghjbpdjlbncz%
- dytiybv dsrk.xfntktv- bkb
- dyenhtyybv gthtrk.xfntktv dblf hf,jn PFU 

(gjkj;tybt STOP)

yt ujhbn ujhbn 
gjcnjzyyj

J,f yfcjcf dsrk.xtys- d dble ytbcghfdyjcnb=
Yfcjcs drk.xf.ncz fdnjvfnbxtcrb gj ecnhfytybb 
ytbcghfdyjcntq=

ujhbn 
gjcnjzyyj

Vbybvev 1 yfcjc dsrk.xty- d dble ytbcghfdyjcnb=
Vbybvev 1 yfcjc hf,jnftn=

vbuftn J,f yfcjcf dsrk.xtys= Dsrk.xtybt ghjbpdjlbncz%
- dytiybv dsrk.xfntktv- bkb
- dyenhtyybv gthtrk.xfntktv dblf hf,jn PFU 

(gjkj;tybt STOP)
Vbybvev 1 yfcjc dsrk.xty- d dble ytbcghfdyjcnb=

C NO NC C NO NC

C NO NC C NO NC

C NO NC C NO NC

C NO NC C NO NC

C NO NC C NO NC

C NO NC C NO NC

A
50

00
26

9

Hdsrk (,fh)

vfrcbvfkmysq ghtltk

1 yfcjc

gjlfxf Q [v3/x]

Hgjlgjh
2 yfcjcf 3 yfcjcf

H0

100%

90% 95%
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Fdfhbqysq ht;bv hf,jns

Ghb yfheitybz[ d hf,jnt 'ktrnhjybrb (PFU 2000)
djpvj;yf 'rcgkefnfwbz yfcjcjd (d
bcrk.xbntkmys[ ckexfz[) gentv ghzvjuj
gjlrk.xtybz r 'ktrnhjctnb= Lkz 'njuj Dfv
ytj,[jlbvj yf;fnm yf cjjndtncnde.obt
dsrk.xfntkb= 
(gjlhj,ye. byajhvfwb. cvjnhb 'ktrnhjc[tve)

Ghb 'njv ht;bvt 'rcgkefnfwbb
ghjbc[jlbn jnrk.xtybt dct[
aeyrwbb eghfdktybz- htuekbhjdfybz
b rjynhjkz=

4=4=8 Jgwbb

4=4=8=1

C gjvjom. dytiytuj htkt gjnjrf vj;yj ljcnbxm
jnrk.xtybz ecnfyjdrb- tckb jyf yt ljcnbuftn
vbybvfkmyjuj pyfxtybz gjlfxb=

4=4=8=2

Pyfxbntkmyjt ljgjkytybt cbcntvs djpvj;yj gentv
ecnfyjdrb rjynhjkmyjuj ghb,jhf PMU 2000-
rjnjhsq vjynbhetncz dyenhb 'ktrnhjirfaf
(dvtcnj gthtlytq gfytkb d ecnfyjdrf[ nbgf
HYDROMULTI CHI  xxxx/2 bkb xxxx/3)- bkb pf
ghtltkfvb ecnfyjdrb= Cdzpm c ecnfyjdrjq
ghjbc[jlbn gj lde[;bkmyjve 'rhfybhjdfyyjve
nhfrne gthtlfxb byajhvfwbb (BUS)=

Ghbcjtlbytybt r gthtegjhzljxyjq cbcntvt (GLT-
DDC b=n=l=) djpvj;yj c gjvjom. ,kjrjd PCU 2000
cbcntvs PMS-abhvs UHEYLAJC=

Gjlhj,yst lfyyst cvjnhb jnltkmyst Bycnherwbb
gj 'rcgkefnfwbb PMU 2000 / PCU 2000 / xxxxxxxx*

5 Vjynf;

5=1 Ecnfyjdrf
HYDROMULTI CHI  gjcnfdkztncz gjkyjcnm. ujnjdjq
r gjlrk.xtyb. b jnhtuekbhjdfyf lkz ghtljghtkty-
yjuj dblf ghbvtytybz=
Vjynf; ghjbpdjlbncz cktcfhzvbc,jhobrfvb
abhvs UHEYLAJC bkb cjjndtncndtyyj j,extyysv
gthcjyfkjv vjynf;yjuj ghtlghbznbz- bvt.otuj
ljgecr yf ghjdtltybt gjlj,ys[ hf,jn=
Lkz j,tcgtxtybz cdj,jlyjuj ljcnegf r ecnfyjdrt
b tt ltnfkzv- cjdtnetv ecnfyfdkbdfnm tt yf
hfccnjzybt 1 vtnhf jn cntys=
Lkz ecnhfytybz ievf- djpybrf.otuj ghb hf,jnt
yfcjcf- vj;yj ecnfyjdbnm rjvgtycfnjhs cj
cnjhjys nhe,jghjdjljd- f ecnfyjdre yfcjcyjuj
fuhtufnf dsgjkybnm c ghbvtytybtv db,hjufczob[
jgjh vt;le aeylfvtynjv b yfcjcjv= Bp,tufqnt
ghjxys[ vtnfkkbxtcrb[ rhtgktybq r cntyfv b
gjnjkrfv=

Ghtldfhbntkmyj ytj,[jlbvj j,tcgtxbnm ljcnfnjxyj
cdj,jlyjuj vtcnf d pjyt ecnfyjdrb j,jheljdfybz-
f nfr;t dsgjkytybz cktle.ob[ eckjdbq%

• yfkbxbt [jhjitq dtynbkzwbb

• gjlrk.xtybt lhtyf;yjq vfubcnhfkb

• gjvtotybt ljk;yj pfgbhfnmcz yf pfvjr b yt
ljk;yj bcgjkmpjdfnmcz lkz lheub[ wtktq

• yt ds,bhfnm lkz vjynf;f gjvtotybt-
ytgjchtlcndtyyj cjctlcnde.ott cj cgfkmysvb
gjvtotybzvb

• gjdth[yjcnm gjkf bkb aeylfvtynf ljk;yf ,snm
hjdyjq

5=2 Gjlcjtlbytybt nhe,
Ytj,[jlbvj cj,k.lfnm ghfdbkf
vtcnys[ djljcyf,;f.ob[
ghtlghbznbq

Dcfcsdf.ofz b yfgjhyfz vfubcnhfkb
gjlcjtlbyz.ncz r ecnfyjdrt ghjxyj b ,tp
yfghz;tybz=
Ghjrkflsdfqnt nhe,jghjdjls nfr- xnj,s bp,t;fnm
djpybryjdtybz dscjrjq crjhjcnb gjnjrf=
Cjdtnetv ecnfyjdbnm yf j,t cnjhjys ecnfyjdrb
pfgjhyst dtynbkb- lkz j,ktuxtybz ghjdtltybz
nt[ybxtcrjuj j,cke;bdfybz=

DYBVFYBT

A
50

00
26

2

A
50

00
26

1

A
50

00
26

3

yfcjc 1 2 3

drk.xtyj

dsrk.xtyj

DYBVFYBT



HYDROMULTI CHI

– 14 –

5=3 "ktrnhbxtcrbt gjlcjtlbytybz
Lkz gjlrk.xtybz 'ktrnhjj,jheljdfybz
ytj,[jlbvj cj,k.lfnm ghfdbkf
vtcnyjuj 'ktrnhjcyf,;f.otuj
ghtlghbznbz bkb ghtlgbcfybz VDE=

• Ghtlj[hfybntkm lkz rf,tkz gbnfybz jn ctnb
(cjukfcyj ghtlgbcfyb. VDE 0100)
ecnfyfdkbdftncz gjnht,bntktv=

• Cktlbnt pf ntv- xnj,s 'ktrnhbxtcrbt
gfhfvtnhs- erfpfyyst yf abhvtyyjq nf,kbxrt-
cjdgflfkb c bvt.obvcz 'ktrnhjcyf,;tybtv=

• D ljgjkybntkmyjq dytiytq pfobnt ldbufntkz
ytn ytj,[jlbvjcnb=

• Gjlcjtlbytybt r 'ktrnhjctnb cvjnhb
ghbkj;tyye. 'ktrnhjc[tve b cjjndtncnde.obt
lfyyst dytiyb[ lfnxbrjd cbuyfkjd=

6 Htuekbhjdrf/rjhhtrwbz
Gjckt jnrhsnbz ldthb 'ktrnhjirfaf- Ds vj;tnt
ghjbpdtcnb ytj,[jlbvst Dfv htuekbhjdrb yf
gkfnt ,kjrf PFU 2000- lkz njuj xnj,s
ghbgfcjdfnm ecnfyjdre r vtcnysv eckjdbzv
'rcgkefnfwbb=

Htuekbhjdrf ghjdjlbncz njkmrj
rdfkbabwbhjdfyysv gthcjyfkjv=
Ytj,[jlbvj bp,tufnm
cjghbrjcyjdtybz c yf[jlzobvbcz
gjl yfghz;tybtv ltnfkzvb- ghb
hf,jnt yf jnrhsnjv fuhtufnt=
Bp,tufqnt cjghbrjcyjdtybz c
pfptvktyysvb vtnfkkbxtcrbvb
ltnfkzvb (nhe,s b=n=l=) 

6=1 "rcgkefnfwbz ,tp PMU 2000
Ds,jh vt;le 2 htuekbhjdrfvb%

• Aeyrwbjybhjdfybt yf jcyjdfybv lfyys[ ,kjrf
PFU 2000 (,fpbcyst gfhfvtnhs)
Gthtrk.xfntkm nbgf DIP 1/5 yf[jlbncz d
gjkj;tybb "ON" = gjcnjzyyfz dhtvtyb cbcntvs
",scnhj" =
Htuekbhjdrf pflfyyjuj gfhfvtnhf b
rj'aabwbtyn gjktpyjuj ltqcndbz (RGL)
nhe,jghjdjlyjq ctnb gthtvtyysq

• Aeyrwbjybhjdfybt yf jcyjdfybb pfgbcfyys[
lfyys[ ,kjrf PFU 2000 (gthtvtyysq)-
gthtrk.xfntkm nbgf DIP 1/5 yf[jlbncz d
gjkj;tybb "OFF" = gjcnjzyyfz dhtvtyb cbcntvs
"vtlktyyj" =
(Ltqcndetn njkmrj njulf- rjulf tot yt
ghjbc[jlbkj gjlrk.xtybt ,kjrf PMU 2000)= 

Htuekbhjdrb pfdjlf-ghjbpdjlbntkz cvjnhb ukfde 16=1/
cnhfybwf 27=
Gfhfvtnhs gjllf.ncz bpvtytyb. c gjvjom.
dhtvtyyjuj gjlrk.xtybz cthdbcyjq xfcnb PMU 2000=

6=2 "rcgkefnfwbz cj dcnhjtyysv 
,kjrjv PMU 2000

Ecnfyjdrf hf,jnftn cjukfcyj
pfghjuhfvvbhjdfyys[ lfyys[ PMU 2000-
ytpfdbcbvj jn htuekbhjdrb gthtrk.xfntkz nbgf
DIP 1/5=
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6=3 Htuekbhjdrf hf,jxtuj lfdktybz

• Gjdjhjn yfghfdj- yj yt lj jnrfpf%  Edtkbxtybt
pyfxtybz pflfyyjuj gfhfvtnhf

• Gjdjhjn yfktdj- yj yt lj jnrfpf%    Evtymitybt
pyfxtybz pflfyyjuj gfhfvtnhf

• Gjdjhjn yfktdj- lj jnrfpf%    Ecnfyjdrf
jnrk.xtyf

• Gjdjhjn yfghfdj- lj jnrfpf%   Ecnfyjdrf
hf,jnftn c vfrcbvfkmyjq ghjbpdjlb-ntkmyjq
vjoyjcnm.= Dct yfcjcs drk.xtys=

6=4 Gthtrk.xfntkm nbgf DIP=

6=4=1 J,cke;bdfybt

J,f gthtrk.xfntkz nbgf DIP (DIP 1 gjpbwbz 1=4 b
DIP 2 gjpbwbz 1=5) yf[jlzncz yf gkfnt eghfdktybz
,kjrf PFU 2000=
Yfcnjzobv djpvj;ys ,fpbcyst htuekbhjdrb%

Gthtrk.xfntkm dblf hf,jn 1=5%
Gjkj;tybt "STOP"
(gjdjhjn yfktdj lj 
jnrfpf)%

- Ecnfyjdrf jnrk.xtyf
- Rkfdbif c,hjcf 

ytbcghfdyjcntq
Gjkj;tybt " 0-100%"  
(chtlybq lbfgfpjy 
htuekbhjdrb 
pflfyyjuj gfhfvtnhf)

- Ecnfyjdrf hf,jnftn d 
fdnjvfnbxtcrjv ht;bvt- 
yfcjcs drk.xf.ncz b 
dsrk.xf.ncz gj 
gjnht,yjcnb (cvjnhb 
ukfdf 4=4=3)

Gjkj;tybt "MAX"  
(gjdjhjn yfghfdj lj 
jnrfpf)

- Ecnfyjdrf hf,jnftn 
gjcnjzyyj- dct yfcjcs 
hf,jnf.n gjcnjzyyj

- Dct aeyrwbb rjynhjkz 
frnbdbhjdfys

- Dytiybt aeyrwbb 
eghfdktybz ,kjrbhjdfys=

A
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6=4=2 nf,kbwf gthtrk.xfntkz DIP - htuekbhjdrb

** Cjcnjzybt ghb gjcnfdrt% c gthtvsxrjq- tckb lfnxbrb jncjtlbytys= Ghb gjlrk.xtybb jlyjuj bp
lfnxbrjd j,zpfntkmyj elfkbnt gthtvsxre!

Gfhfvtnh
Gthtrk.xfntkm nbgf DIP 1 DIP 2

1 2 3 4 5 6 7 8 9 1 2 3 4
Yfcjc No= 1 OFF OFF OFF

Yfcjc No= 2 OFF OFF ON

Yfcjc No= 3 OFF ON OFF

Yfcjc No= 4 OFF ON ON

Yfcjc No= 5 ON OFF OFF

Yfcjc No= 6 ON OFF ON

Yfcjc No= 7 ON ON OFF

Yfcjc No= 8 ON ON ON

Lfdktybt dgecrf/Pfobnf jn gecrf " dce[e."  (Fyfkjujdsq d[jl 2) F12
Bpvthtybt gjlgjhf (4-20vF cbuyfk) OFF ON OFF

Pfobnf jn gecrf"dce[e." (rjynfrnysq cbuyfk) ON OFF ON

yt drk.xty lfnxbr cbuyfkjd ** ON OFF ON

Htuekbhjdjxysq cbuyfk (Fyfkjujdsq d[jl 1)
gjcnjzyysq njr 0-10D- NTC OFF

0 lj 20vF/4 lj 20vF ON

1= ,tp PMU 2000%
Hf,jnf c cnfylfhnysvb lfyysvb PE nbgf EPROM ON

Hf,jnf c pfgbcfyysvb lfyysvb ,kjrf PFU 2000 OFF

2= c ,kjrjv PMU 2000%
Ecnfyjdrf hf,jnftn cjukfcyj pfghjuhfvvbhjdfyysv lfyysv PMU 2000
RGL nhe,jghjdjlyjq ctnb
,tp RGL (gjcnjzyjt lfdktybt) OFF

10% RGL ON

dytiybt lfnxbrb cbuyfkjd
cbuyfk 0 lj 10D OFF

cbuyfk 4 lj 20vF ON

drk.xtys PFU

1 PFU drk.xty OFF

2 PFU drk.xtys ON

Rjkbxtcndj eghfdkztvs[ yfcjcjd- ,kjrjv PFU

1 yfcjc OFF OFF

2 yfcjcf OFF ON

3 yfcjcf ON OFF

4 yfcjcf ON ON
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6=4=3 Aeyrwbb gthtrk.xfntkz nbgf DIP=

6=4=3=1 Gthtrk.xfntkb 1/1- 2- 3 
(Herjdjlcndj ,tp PMU 2000)

C gjvjom. gthtrk.xfntkz nbgf DIP ghjbc[jlbn
flhtcfwbz yfcjcjd= "nj pyfxbn- xnj yfcjc c cfvsv
ybprbv yjvthjv- eghfdkztvsq ,kjrjv PFU 2000-
rjlbhetncz=

Yfghbvth%

6=4=3=1=1 Ecnfyjdrf c jlybv ,kjrjv PFU 2000

6=4=3=1=2 Ecnfyjdrf c ldevz ,kjrfvb PFU 2000

6=4=3=1=3 Ecnfyjdrb c ,kjrjv PMU b ytcrjkmrbvb 
,kjrfvb PFU- rjnjhst d cdj. jxthtlm 
hfcghtltktys yf ytcrjkmrj pjy%

Lfkytqie. byajhvfwb. cvjnhb Bycnherwb. gj
'rcgkefnfwbb PMU 2000=

6=4=3=2 Gthtrk.xfntkm nbgf DIP 1/4

Rjlbhjdrf cbuyfkf ytljcnfnrf djls yf d[jlt 2
lkz ,tcgjntywbfkmys[ lfnxbrjd- nfrb[ rfr htkt
lfdktybz- htkt ehjdyz- gjgkjdrjdsq dsrk.xfntkm-
fyfkjujdsq lfnxbr:

• Gjkj;tybt ON = Pfobnf jn gecrf "dce[e." -
rjynfrnysq d[jl (cbuyfkbpfwbz
ghb jnrhsnjv rjynfrnt)

• Gjkj;tybt OFF=Bpvthtybt gjlgjhf- 4-20vF

gjlhj,ytt cvjnhb nfr;t 'ktrnhjc[tve yf
cnh= 5

6=4=3=3 Gthtrk.xfntkm nbgf DIP 1/5

Ds,jh gjcnjzyyjq dhtvtyb pyfxtybz cbcntvs

• Gjkj;tybt ON = Aeyrwbz htuekbhjdfybz ",scnhj/
2 ctreyls"- ecnfyjdrf htfubhetn
yf ,scnhj bpvtyz.oe.cz
yfuhepre- gjcktlcndbtv zdkztncz
xfcnjt drk.xtybt b dsrk.xtybt
yfcjcjd=

• Gjkj;tybt OFF =Aeyrwbz htuekbhjdfybz
"vtlktyyj" - cdj,jlyj
rjlbhetvf ,kjrjv PMU 2000=
Ecnfyjdrf htfubhetn bythnyj yf
bpvtytybt yfuheprb- ybprfz
xfcnjnf drk.xtybz b
dsrk.xtybz=

6=4=3=4 Gthtrk.xfntkm nbgf DIP 1/6

Htuekbhjdrf [fhfrnthbcnbrb pflfyyjuj pyfxtybz

• Gjkj;tybt ON ="ghjuhtccbdyj" ,kjr PFU
htuekbhetn lfdktybt c
rjtaabwbtynjv gjktpyjuj
ltqcndbz nhe,jghjdjlyjq ctnb
vfrc= 90% ghb Q= 0v3/x=

• Gjkj;tybt OFF = "gjcnjzyyj" PFU htuekbhetn
lfdktybt yf jcyjdfybb
gjcnjzyyjuj pflfyyjuj
pyfxtybz

6=4=3=5 Gthtrk.xfntkm nbgf DIP 1/7

Rjkbxtcndj gjlrk.xtyys[ ,kjrjd PFU d jlyjq
ecnfyjdrt b htuekbhjdrf ghbjhbntnyjcnb=

6=4=3=5=1 Gjlrk.xty 1 ,kjr PFU

• Gjkj;tybt OFF =D ghbjhbntnyjcnb ytn
ytj,[jlbvjcnb

6=4=3=5=2 Gjlrk.xtys 2 ,kjrf PFU

• Gjkj;tybt ON = Bkjr PFU- r rjnjhjve
gjlrk.xtys lfnxbrb
(ghbjhbntnyjcnm 1)

• Gjkj;tybt OFF=Bkjr PFU ,tp lfnxbrjd
(ghbjhbntnyjcnm 2)

,kjr PFU 2000 eghfdkztn 
yfcjcfvb 1-4

cfvsq ybprbq 
yjvth yfcjcf 1
rjlbhjdrf 
gthtrk.xfntkz 
nbgf DIP 1- 2- 3 OFF, OFF, OFF

,kjr PFU 2000 
eghfdkztn 
yfcjcfvb 1-4

,kjr PFU 2000 
eghfdkztn 
yfcjcfvb 5-8

cfvsq ybprbq 
yjvth yfcjcf 1 5
rjlbhjdrf 
gthtrk.xfntkz 
nbgf DIP 1- 2- 3 OFF, OFF, OFF ON, OFF, OFF
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6=4=3=6 Gthtrk.xfntkb nbgf DIP 1/8 b 1/9

Rjkbxtcndj yfcjcjd

"njq rjv,byfwbtq gthtrk.xtybz
ecnfyfdkbdftncz- rfrjt rjkbxtcndj yfcjcjd
ljk;yj rjynhjkbhjdfnmcz b eghfdkznmcz jlybv
,kjrjv PFU=

Djpvj;yjcnm ds,jhf% 1-4 yfcjcf
Htuekbhjdrf% cjukfcyj jcyfotyb.

* cke;bn j,hfpwjv dj dct[ ghbvthf[ 'njq
bycnherwbb gj 'rcgkefnfwbb

6=4=3=7 Gthtrk.xfntkb nbgf DIP 2/1 b 2/2

Htuekbhjdrf rfr ghb bcgjkytybt c pfobnjq jn
gecrf "dce[e." (d rjv,byfwbb c gthtrk.xfntktv
nbgf DIP 1/4)

6=4=3=8 Gthtrk.xfntkm nbgf DIP 2/3

Rjlbhjdrf cbuyfkf htuekbhjdfybz yf fyfkjujdjv
d[jlt 1

OFF =0 lj 10D

ON = 0 lj 20vF- 4 lj 20vF

6=4=3=9 Gthtrk.xfntkm nbgf DIP 2/3

Ds,jh dytiytuj cbuyfkf pflfyyjuj pyfxtybz

OFF =0 lj 10D

ON = 4 lj 20vF

6=5 Lbfahfuvtyysq yfgjhysq ublhj,fr

6=5=1 Gjlgjh d lbfahfuvtyyjv yfgjhyjv 
ublhj,frt

Yfgjhysq lbfahfuvtyysq ublhj,fr hf,jnftn rfr
htcbdth yf ds[jlt vfubcnhfkb- ult hfpdbdftncz rj
ytxyjt lfdktybt cbcntvs= Fpjn- pfrfxfyysq gjl
jghtltktyysv lfdktybtv d hfcgjkj;tyye. yfl
lbfahfuvjq dth[y.. xfcnm ublhj,frf j,hfpetn
ghb 'njv nht,etve. egheue. "gjleire" =

Htrjvtyletvs gjlgjh%
Pv = (0-8====0-9) x Psoll x R/100 [,fh]

Pv = Gjlgjh d lbfahfuvtyyjv yfgjhyjv
ublhj,frt

Psoll = pflfyyjt pyfxtybt lfdktybz [,fh]

R = rj'aabwbtyn gjktpyjuj ltqcndbz (RGL)
nhe,jghjdjlyjq ctnb
Tckb yt bcgjkmpjdfy RGL- njulf ltqcndetn%
R= 100%

Pfdjlcrfz htuekbhjdrf gjlgjhf d lbfahfuvtyyjv
yfgjhyjv ublhj,frt cjcnfdkztn pyfxtybt- rjnjhjt
yf 10-20% yb;t- xtv pflfyyjt pyfxtybt rjytxyjuj
lfdktybz=

6=5=2 Rjynhjkm b bpvtytybt cnfylfhnyjq 
htuekbhjdrb- ghjbpdtltyyjq pfdjljv-
bpujnjdbntktv

Djlf yt ljk;yf yf[jlbnmcz gjl
bp,snjxysv lfdktybtv!
Htrjvtyletncz d rfxtcndt
pfgjkybntkz ghbvtyznm fpjn (N2)=

Tckb ytj,[jlbvj bpvtytybt htuekbhjdrb
pflfyyjuj lfdktybz (ghjbpdtltyyjuj cjukfcyj
nf,kbwt 1) bkb Dfib gfhfvtnhs ecnfyjdrb/gjlgjhf
Hgjl jnrkjyz.ncz jn erfpfyys[ d nf,kbwt- nj
ytj,[jlbvj cjjndtncnde.obv j,hfpjv bpvtybnm
lfdktybt gjlgjhf d lbfahfuvtyyjv yfgjhyjv
htpthdefht (cvjnhb nf,kbwe 1)=

• Jndthyenm b cyznm rjkgfxjr pfghfdjxyjuj rkfgfyf=

• Pfvthbnm lfdktybz c gjvjom. rjynhjkmyjuj
vfyjvtnhf b- tckb nht,etncz- cnhfdbnm
bp,snjxyjt lfdktybt lj nht,etvjuj lfdktybz=

• Pfdthyenm rjkgfxjr pfghfdjxyjuj rkfgfyf=

Yfcjc (s) 1 2 3* 4
DIP 8 OFF OFF ON ON

DIP 9 OFF ON OFF ON

DYBVFYBT
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nf,kbwf 1 lkz cnfylfhnyjq ecnfyjdrb pflfyyjuj pyfxtybz b cjjndtncnde.otuj gjlgjhf d lbfahfuvtyyjv
yfgjhyjv ublhj,frt%

6=6 Lfnxbr cbuyfkjd pfobnf jn gecrf 
$dce[e.$

6=6=1 Htkt lfdktybz FF-4- gjpbwbz 14=2
(Pfobnf jn gecrf "dce[e." ghb 
ytgjchtlcndtyyjv gjlcjtlbytybb)

Ghb vjynf;t yf pfdjlt-bpujnjdbntkt lfdktybt
drk.xtybz htkt lfdktybz jnhtuekbhjdfyj yf 1-5
,fh= Tckb lfdktybt gjlgjhf d cbcntvt cjcnfdkztn
vbybvev 2 ,fh- ytn ytj,[jlbvjcnb d bpvtytybb
htuekbhjdrf=

6=6=1=1 Htuekbhjdrf ghb ljgjkybntkmyjv 
nt[ybxtcrjv jcyfotybb

Htuekbhjdrb dsgjkyz.ncz njkmrj
cgtwbfkbcnfvb= Ytj,[jlbvj
cktlbnm pf ntv- xnj,s ghb
jnrhsnjv ghb,jht yt rfcfnmcz
xfcntq- yf[jlzob[cz gjl
yfghz;tybtv= Bp,tufnm rjynfrnf
xfcntq ntkf c pfptvktyysvb
vtnfkkbxtcrbvb xfcnzvb
(nhe,fvb- rjhgecjv b n=l=)=

:tkfntkmyfz htuekbhjddrf dth[ytuj lfdktybz
drk.xtybz%

Elfkbnt pfobnysq rjkgfr htkt lfdktybz=

• C gjvjom. htuekbhjdjxyjuj dbynf 1=1
jnhtuekbheqnt dth[y.. njxre gthtrk.xtybz
(lfdktybt dsrk.xtybz)

• Gjrfpfybt cnhtkrjq 1=2 (rhfcyfz)

• Gjckt 'njuj jnhtuekbheqnt htuekbhjdjxysv
dbynjv 1=4 yb;y.. njxre gthtrk.xtybz
(lfdktybt gjdnjhyjuj drk.xtybz)- dth[yzz njxrf
gthtrk.xtybz jcnftncz ghb 'njv ,tp bpvtytybz=

• Gjrfpfybt cnhtkrjq 1=3 (ptktyfz)

D rfxtcndt rjvjob ghb htuekbhjdrt cjdtnetv
bcgjkmpjdfnm vfyjvtnh= Gjckt 'njuj dthybnt
pfobnysq rjkgfr yf tuj vtcnj=

nbg yfcjcf ytghzvjt gjlrk.xtybt (,tp gjlgjhf) ytgjchtlcndtyyjt gjlrk.xtybt 
(c gjlgjhjv 1-5 ,fh

Pdsrk Hsoll Pgjlg Pdsrk Hsoll Pgjlg
CHI 2-20 1-5 1-2 0-9 3-0 2-7 2-5

30 2-3 2-0 1-8 3-8 3-5 3-3
40 2-9 2-6 2-4 4-4 4-1 3-8
50 3-6 3-3 3-1 5-1 4-8 4-5
60 4-0 3-7 3-5 5-5 5-2 4-9

CHI 4-20 1-4 1-1 0-8 2-9 2-6 2-3
30 2-4 2-1 1-8 3-9 3-6 3-3
40 3-1 2-8 1-5 4-6 4-3 4-0
50 3-8 3-5 3-2 5-3 5-0 4-7
60 4-5 4-2 3-9 6-0 5-7 5-4

CHI 8-10 1-3 1-0 0-8 2-8 2-5 2-2
15 2-1 2-1 1-8 3-9 3-6 3-3
20 2-6 2-3 2-0 4-1 3-8 3-5
25 3-5 3-2 2-9 5-0 4-7 4-4
30 4-1 3-8 3-5 5-6 5-3 5-0

CHI 12-10 1-5 1-2 0-9 3-0 2-7 2-4
15 2-5 2-2 1-9 4-0 3-7 3-4
20 3-5 3-2 2-9 5-0 4-7 4-4
25 4-2 3-9 3-6 5-7 5-4 5-1
30 5-0 4-7 4-4 6-5 6-2 5-9

10-20% yb;t Hgjlgjh
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6=6=1=2 C[tvfnbxtcrjt bpj,hf;tybt

6=6=2 Htkt ehjdyz- gjpbwbz 14=5 (Pfobnf jn 
gecrf "dce[e." ghb ytghzvjv 
gjlcjtlbytybt)

6=6=2=1 J,kfcnm ghbvtytybz ecnfyjdrb

ghbujlyf lkz%
hjlybrjdjq djls- gbnmtdjq djls-
nt[ybxtcrjq djls- vjhcrjq djls
yt ghbujlyf lkz%
[bvbxtcrb xbcnjq djls- ujh.xtuj- vfctk-
c;b;tyyjuj ufpf (juytjgfcyj)-
rjywtynhbhjdfyyjuj fkrjujkz (>40%)-
'nbktyukbrjkz- gfhfabyf

6=6=2=2 Ghbywbg hf,jns

Bpvthbntkmyjt htkt abrcbhetn 'ktrnhbxtcrjt
cjghjnbdktybt vt;le ldevz 'ktrnhjlfvb=

• Tckb bpvthbntkmysq exfcnjr jrhe;ty
;blrjcnm.% ht;bv hf,jns=

• Tckb bpvthbntkmysq exfcnjr ghthdfy%
cbuyfkbpfwbz ytbcghfd yjcnb/ytljcnfnrf djls=

6=6=2=3 Gkfy gjlcjtlbytybz

6=6=2=4 Htuekbhjdrf

Ytj,[jlbvj jnhtuekbhjdfnm jnpsdxbdjcnm htkt
ehjdyz= "ktrnhjls V- TY (vfrcbvfkmysq ehjdtym)
b TD (vbybvfkmysq ehjdtym) ljk;ys bvtnm
rjynfrn c rjynhjkbhetvjq bvb ;blrjcnm.=
Ghb 'njv htuekbhjdrf jnpsdxbdjcnb ghjbpdjlbncz
nfr- xnj,s htkt yf[jlbkjcm dj drk.xtyyjv
cjcnjzybb (rjynfrn 15-18 pfvryen)= D rfxtcndt
ghjdthrb aeyrwbjybhjdfybz j,tcgtxmnt
yf[j;ltybt 'ktrnhjljd TY b TD pf ghtltkfvb
;blrjcnb= Htkt ljk;yj jnrk.xbncz (rjynfrn 15-18
hfpjvryen)=

6=6=2=5 Vjynf;

Htkt ajhvbhjdfybz cbuyfkf byntuhbhjdfyj d
'ktrnhjirfa=
Bpvthbntkmyst 'ktrnhjls vjynbhe.ncz yf pfdjlt-
bpujnjdbntkt d ,tpyfgjhysq htpthdefh b
cjtlbyz.ncz ghb gjvjob 'ktrnhjrf,tkz c htkt
ehjdyz (lkbyye rf,tkz erfpsdfqnt ghb pfrfpt)=

6=7 Jgwbz% dytiytt htkt gjnjrf
D ecnfyjdrf[ c gkjcrbvb uhfabxtcrbvb
[fhfrnthbcnbrfvb  djpvj;ty vjynf; htkt gjnjrf
lkz jnrk.xtybz gjcktlytuj yfcjcf= 
Cjukfcyj 'ktrnhjc[tvt gjlcjtlbytybt yf d[jlt AI
4 (rktvvs 16 b GND)%

• Elfkbnm gthtvsxre 16-GND- dvtcnj ytt
ecnfyjdbnm htkt gjnjrf=

• Ghb e,sdf.otv gjnjrt  rjynfrn htkt gjnjrf
ljk;ty hfpjvryencz=
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6=8 J,vty PE nbgf EPROM=
Ghb jcyfotybb ecnfyjdrb ljgjkybntkmysvb
ghbyflkt;yjcnzvb ytj,[jlbvj gjvtyznm PE nbgf
EPROM=

Pfvtyznm PE nbgf EPROM
hfphtiftncz njkmrj ghb
j,tcnjxtyyjv ,kjrt PFU 2000= D
ghjnbdyjv ckexft cjlth;fybt
ghjuhfvvs cnbhftncz=
Pfvtye EPROM dsgjkyznm njkmrj
c ghbvtytybtv cjjndtncnde.ob[
bycnhevtynjd (ecnhjqcndf lkz
ltvjynf;f EPROM)- gthtl
ecnfyjdrjq yjdjuj PE ckturf
jnjuyenm yfdcnhtxe lheu lheue
yj;rb- hfcgjkj;tyyst yf
gkjcrjq vtnfkkbxtcrjq
gjdth[yjcnb- yt yf[jlzotqcz gjl
yfghz;tybtv= "nj j,tcgtxbn
cdj,jlysq ghj[jl b[ d jcyjdfybt=
Ghb ecnfyjdrt EPROM euks/
pfhe,rb ljk;ys hfcgjkjufnmcz
yfghjnbd=

7 Ddjl d 'rcgkefnfwb./
cyznbt c 'rcgkefnfwbb

7=1 Vthjghbznbz- ghtlitcnde.obt 
gthdjyfxfkmyjve ddjle d 
'rcgkefnfwb.

Htuekbhjdrb dsgjkyz.ncz njkmrj
cgtwbfkbcnfvb= Ytj,[jlbvj
cktlbnm pf ntv- xnj,s ghb
jnrhsnjv ghb,jht yt rfcfnmcz
xfcntq- yf[jlzob[cz gjl
yfghz;tybtv= Bp,tufnm rjynfrnf
xfcntq ntkf c pfptvktyysvb
vtnfkkbxtcrbvb xfcnzvb
(nhe,fvb- rjhgecfvb b n=l=)=

Gthtl ddjljv d 'rcgkefnfwb.
yfcjcyjq ecnfyjdrb ytj,[jlbvj
ghjdthbnm ghjxyjcnm pfnz;rb
htpm,jds[ rktvvys[ cjtlbytybq
cbcntvs eghfdktybz b lfnxbrjd
cbuyfkjd=

Ghjdtltybt cktle.ob[ hf,jn ghtlgjkjuftn- xnj
ecnfyjdrf HYDROMULTI CHI ecnfyjdktyf yf vtcnt
tt 'rcgkefnfwbb- f nfr;t gjlrk.xtyf r
'ktrnhjctnb b djljghjdjlyjq vfubcnhfkb=

7=2 Gthdjyfxfkmysq ddjl d 
'rcgkefnfwb.

• Chfdybnm rjlbhjdre ,kjrf PFU 2000/4 1 c
ghtlcnjzobvb eckjdbzvb 'rcgkefnfwbb (ghb
ytj,[jlbvjcnb rjhhtrwbz- cvjnhb ukfde 6)

• Jnrhsnm dct dyenhtyyst b dytiybt pfgjhyst
pfldb;rb=

• Gjlrk.xbnm ctntdjq rf,tkm=

• Drk.xbnm kbytqyjq dsrk.xfntkm 3=                                                              

• Gjdjhfxbdfnm gjntywbjvtnh pflfyyjuj pyfxtybz
1=5 yf "AUTO-BETRIEB" (;tkftvjt pflfyyjt
pyfxtybt)=

• Jnrhsnm pfgjhye. fhvfnehe% Yfcjcs
gjlrk.xf.ncz gjcktljdfntkmyj r cbcntvt
djljcyf,;tybz=

• Ghjdthbnm yfghfdktybt dhfotybz yfcjcjd- ghb
ytj,[jlbvjcnb - bpvtybnm- gjvtyzd vtcnfvb
gjlrk.xtybt afpys[ ghjdjljd 'ktrnhjgbnfybz=

• Pfrhsnm pfgjhye. fhvfnehe% Yfcjcs
jnrk.xf.ncz gjcktljdfntkmyj jn cbcntvs
djljcyf,;tybz=

• Ghjdthbnm vjvtyns drk/dsrk b ghb
ytj,[jlbvjcnb jnhtuekbhjdfnm pflfyyjt
pyfxtybt gjntywbjvtnhf 1=5

DYBVFYBT
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• Ghjdtcnb yf,k.ltybt pf dhtvtytv htfubhjdfybz
(gjcnjzyyjq dhtvtyb cbcntvs)- ghb
ytj,[jlbvjcnb jnhtuekbhjdfnm
gthtrk.xfntktv nbgf DIP 5 1=4 ,kjrf PFU
2000/4 (lkz 'njuj gjlrk.xbnt cthdbcysq ,kjr
PMU)=
Gjckt ecnfyjdrb HYDROMULTI CHI b
gjlrk.xtybz r 'ktrnhjctnb j,jheljdfybt yt
ye;lftncz d lfkmytqitv j,cke;bdfybb=
J,jheljdfybt hf,jnftn d fdnjvfnbxtcrjv
ht;bvt b drk.xftncz/dsrk.xftncz d
pfdbcbvjcnb jn rjkbxtcndf pf,jhf djls=

Vfrcbvfkmyjt ljgecnbvjt
hf,jxtt lfdktybt d 10 ,fhjd yt
ljk;yj ,snm ghtdsityj yb d
rjtv ckexft=

7=3 Cyznbt c 'rcgkefnfwbb
Jnrk.xbnm HYDROMULTI CHI  c gjvjom.
kbytqyjuj dsrk.xfntkz= Cyznm dytiybt
ghtlj[hfybntkb= Pfrhsnm pfgjhyst pfldb;rb yf
cnjhjyf[ dcfcsdfybz b yfuytnfybz=
<kjrbhjdfnm yfcjcye. ecnfyjdre jn gjdnjhyjuj
drk.xtybz=
Jnltkmyst yfcjcs vjuen ,snm cyzns c
'rcgkefnfwbb gentv jnrk.xtybz htkt pfobns
ldbufntkz=

Ghb jgfcyjcnb pfvthpfybz
gjkmyjcnm. elfkbnm bp
ecnfyjdrb djle=

DYBVFYBT

DYBVFYBT
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8 Nf,kbwf ytbcghfdyjcntq
Ytbcghfdyjcnm Djpvj;yfz ghbxbyf Ecnhfytybt ytbcghfdyjcnb

Ghb drk.xtybb yfcjcs yt 
hf,jnf.n

Ytn gjlfxb njrf r 
'ktrnhjldbufntk.

Ghjdthbnm cbcntve eghfdktybz

Gjdht;ltys  ghtlj[hfybntkb
Chf,jnfk fdnjvfn pfobns 
'ktrnhjldbufntkz
Gjdht;ltys  rjynfrns 
rjynfrnjhf
Bpvtybkcz gjntywbjvtnh 
pflfyyjuj pyfxtybz

Ghjdthbnm htuekbhjdre ,kjrf 
PFU 2000/4

Gjdht;lty rf,tkm Ghjdthbnm rf,tkm
Gjdht;lty 'ktrnhjldbufntkm Ghjdthbnm 'ktrnhjldbufntkm

Yfcjc hf,jnftn gjcnjzyyj b yt 
jnrk.xftncz

Yt ljcnbuftncz pyfxtybt lfdktybz 
dsrk.xtybz

Ghjdthbnm htuekbhjdre ,kjrf 
PFU 2000/4

Yt ghjbc[jlbn jnrk.xtybt 
j,jheljdfybz ghb ytljcnfnjxyjv 
rjkbxtcndt djls

Gjdht;ltyj htkt lfdktybz bkb 
lfnxbr ehjdyz

Ghjdthbnm htkt lfdktybz/lfnxbr 
ehjdyz b ecnhfybnm ytbcghfdyjcnm

"ktrnhjls bkb gjgkfdrjdsq 
dsrk.xfntkm yf[jlzncz yf 
ytghfdbkmyjv vtcnt

Gjlhtuekbhjdfnm bkb ghjdthbnm 
rhtgktybt

Gjdht;ltyf cbcntvf eghfdktybz Ghjdthbnm cbcntve eghfdktybz
Fdnjvfn pfobns ldbufntkz 
chf,fnsdftn dhtvz jn dhtvtyb

Ckbirjv vfkf htuekbhjdrf 
fdnjvfnf pfobns

Gjlhtuekbhjdfnm d ljgecnbvs[ 
ghtltkf[

yfcjc hf,jnftn nz;tksv [jljv Ghjdthbnm cntgtym pfuhzpytybz
Ckbirjv dscjrfz ntvgthfnehf 
jrhe;f.otq chtls

J,tcgtxbnm ljcnfnjxye. 
dtynbkzwb.

Rjkt,fybz yfghz;tybz d ctnb Ghjdthbnm 'ktrnhjctnm b 
ecnhfybnm ytbcghfdyjcnm

Gjdht;lty 'ktrnhjldbufntkm Ghjdthbnm 'ktrnhjldbufntkm
Gjlfxf yfcjcf ytcnf,bkmyf (yt 
ltqcndetn ghb vfkjv hfc[jlt 
djls)|

Ckbirjv vfktymrjt lfdktybt 
dgecrf

Ghjdthbnm dcfcsdf.obq 
nhe,jghjdjl/abkmnhs

Gjldjlzobq nhe,jghjdjl/yfcjcs 
pf,bns uhzpm.

Ghjxbcnbnm gjldjlzobq 
nhe,jghjdjl/yfcjcs

Yfcjcs gjlcfcsdf.n djple[ Ghjdthbnm uthvtnbxyjcnm 
gjldjlzotuj nhe,jghjdjlf

{jl 'ktrnhjldbufntkz c 
ytghfdbkmyjv yfghfdktybtv 
dhfotybz

J,vty yfghfdktybz dhfotybz 
(j,vty afps)

Dscjrfz xfcnjnf gthtrk.xtybq Ytghfdbkmyfz htuekbhjdrf 
gjlgjhf d lbfahfuvtyyjv 
yfgjhyjv ublhj,frt

Jnhtuekbhjdfnm gjlgjh (cvjnhb 
ukfde 6=5)
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9 Nt[ybxtcrjt 
j,cke;bdfybt

Gthtl yfxfkjv hf,jn gj
nt[ybxtcrjve j,cke;bdfyb.
j,zpfntkmyj dsgjkybnm dct jgthfwbb-
ytj,[jlbvst lkz cyznbz yfcjcyjuj
fuhtufnf c 'rcgkefnfwbb- gjkyjcnm.
jnrk.xbnm tt jn 'ktrnhjctnb b
,kjrbhjdfnm jn gjdnjhyjuj
drk.xtybz=
R ghjdtltyb. nt[ybxtcrjuj
j,cke;bdfybz ljgecrf.ncz njkmrj
cgtwbfkbcns!

Xnj,s j,tcgtxbnm yflt;ye. b ghfdbkmye.
'rcgkefnfwb. j,jheljdfybz HYDROMULTI CHI -
abhvf htrjvtyletn dsgjkybnm cktle.obt
vthjghbznbz% 

Lfktt- ghjcbv Dfc cj,k.lfnm erfpfybz- ghbdtltyyst
d herjdjlcndt gj 'rcgkefnfwbb yfcjcf CHI=

Cbcntvf HYDROMULTI CHI yt nht,etn nt[ybxtcrjuj
j,cke;bdfybz= Jlyfrj htuek;yjt dsgjkytybt
rjynhjkmys[ jcvjnhjd j,tcgtxbn lkbntkmysq chjr
cke;,s j,jheljdfybz=
Lkz 'njuj vs htrjvtyletv Dfv pfrk.xbnm
cjjndtncnde.obq ljujdjh c abhvjq UHEYLAJC j
ghjdtltybb bycgtrwbjyys[ ghjdthjr=
Ghjcbv Dfc j,hfofnmcz d cjjndtncnde.ott vtcnyjt
jnltktybt abhvs UHEYLAJC=

10 Ufhfynbz
Abhvf ,thtn yf ct,z ufhfynbqyst j,zpfntkmcndf d
hfvrf[ cdjb[ j,sxys[ eckjdbq gjcnfdrb=
Bcrk.xftncz jndtncndtyyjcnm pf eoth,- cnfdibq
ghbxbyjq ytghfdbkmyjuj vjynf;f- gjlrk.xtybz
'ktrnhjj,jheljdfybz bkb ytghfdbkmyjuj
ghbvtytybz- f nfr;t bcrk.xftncz
jndtncndtyyjcnm pf gjcktlcndbz jn nfrjuj eoth,f=
Yfxfkj chjrf ltqcndbz ufhfynbb ljk;yj
abrcbhjdfnmcz ljrevtynfkmyj=

11 Pfgfcyst epks b ltnfkb/
ghbyflkt;yjcnb

Yfcnjzntkmyj j,hfoftv Dfit dybvfybt yf nj- xnj
pfgfcyst epks b ltnfkb- f nfr;t ghbyfl
kt;yjcnb- gjcnfdkztvst yt yfvb- vs yt ghjdthzkb
b yt dslfdfkb hfphtitybt yf b[ 'rcgkefnfwb.=
Vjynf; bkb ghbvtytybt nfrb[ bpltkbq vj;tn
jnhbwfntkmyj bpvtybnm rjycnhernbdyj pflfyyst
[fhfrnthbcnbrb yfcjcyjq ecnfyjdrb HYDROMULTI
CHI b yfheibnm ,tpjgfcyjcnm ghb tt 'rcgkefnfwbb=
Abhvf UHEYLAJC yt ytctn ybrfrjq
jndtncndtyyjcnb bkb ufhfynbqys[ j,zpfntkmcnd d
cdzpb c eoth,jv- djpybribv dcktlcndt ghbvtytybz
pfgfcys[ epkjd b ltnfktq- f nfr;t
ghbyflkt;yjcntq lheub[ abhv-bpujnjdbntktq=

Ghbyflkt;yjcnb%

Ecnhjqcndf lkz pfobns ecnfyjdrb
ghb ytljcnfnjxyjv rjkbxtcndt
djls yt d[jlzn d j,]tv
rjvgktrnf gjcnfdrb b ljk;ys
,snm pfrfpfys ljgjkybntkmyj=

1 Htkt lfdktybz- cj cnjhjys dcfcsdfybz
(bcgjkytybt bp wdtnyjuj vtnfkkf) 
c gjkyjcnm. ghjdtltyysv 'ktrnhjvjynf;jv-
dcnhfbdftncz pfdjljv-bpujnjdbntktv yjvth
bpltkbz% 004Y5141

2 Htkt lfdktybz- cj cnjhjys dcfcsdfybz
(bcgjkytybt bp wdtnyjuj vtnfkkf)
d[jlbn d rjvgktrn gjcnfdrb- vjynf; e
gjnht,bntkz yjvth bpltkbz% 004Y5145

3 Htkt lfdktybz- cj cnjhjys dcfcsdfybz
(bcgjkytybt bp yth;fdt.otq cnfkb)- c
gjkyjcnm. ghjdtltyysv 'ktrnhjvjynf;jv-
dcnhfbdftncz pfdjljv-bpujnjdbntktv yjvth
bpltkbz% 004Y5142

4 Htkt lfdktybz- cj cnjhjys dcfcsdfybz
(bcgjkytybt bp yth;fdt.otq cnfkb)- d[jlbn d
rjvgktrn gjcnfdrb- vjynf; e gjnht,bntkz
yjvth bpltkbz% 004Y5146

5 Htkt lfdktybz- cj cnjhjys yfuytnfybz
(bcgjkytybt bp wdtnyjuj vtnfkkf)- c gjkyjcnm.
ghjdtltyysv 'ktrnhjvjynf;jv- dcnhfbdftncz
pfdjljv-bpujnjdbntktv yjvth bpltkbz%
004Y5143

6 Htkt lfdktybz- cj cnjhjys yfuytnfybz
(bcgjkytybt bp wdtnyjuj vtnfkkf)- d[jlbn d
rjvgktrn gjcnfdrb- vjynf; e gjnht,bntkz
yjvth bpltkbz% 004Y5193

7 Htkt lfdktybz- cj cnjhjys yfuytnfybz
(bcgjkytybt bp yth;fdt.otq cnfkb)- c
gjkyjcnm. ghjdtltyysv 'ktrnhjvjynf;jv-
dcnhfbdftncz pfdjljv-bpujnjdbntktv yjvth
bpltkbz% 004Y5144

- E,tlbntcm d ljcnfnjxyjv ljcnegt
djple[f r cjjndtncnde.obv xfcnzv
ecnfyjdrb (ldbufntkb- ,kjr
eghfdktybz)

- Dsgjkyznm ghjdthre aeyrwbq
gthtrk.xtybz yfcjcf- f nfr;t
gjlgjh d yfgjhyjv ublhj,frt yt
ht;t-  xtv jlby hfp d ujl=

- Htuek;yj gjlnzubdfnm dct
htpm,jdst rktvvyst cjtlbytybz d
cbcntvt eghfdktybz b d lfnxbrf[
cbuyfkjd=

- <jktt njxyfz gthbjlbxyjcnm
ghjdthjr pfdbcbn jn eckjdbq
'rcgkefnfwbb- b jrhe;f.otq
chtls=

ERFPFYBT
ERFPFYBT
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8 Htkt lfdktybz- cj cnjhjys yfuytnfybz
(bcgjkytybt bp th;fdt.otq cnfkb)- d[jlbn d
rjvgktrn gjcnfdrb- vjynf; e gjnht,bntkz
yjvth bpltkbz% 004Y5148

9 Gjgkfdrjdjq dsrk.xfntkm (aeyrwbz
"jgjhj;ytybt" )- d[jlbn rjvgktrn gjcnfdrb-
vjynf; e gjnht,bntkz yjvthf bpltkbq%
GW3165 c rf,tktv  3v
GW3401 c rf,tktv  5v
GW3402 c rf,tktv 10v
GW3403 c rf,tktv 20v

10 Htkt rjynhjkz ehjdyz dbl pfobns IP 54 d[jlbn
d rjvgktrn gjcnfdrb- vjynf; e gjnht,bntkz
yjvth bpltkbz% ID7611 ljgjkybntkmyj
ytj,[jlbvs%
3 gjuhe;ys[ 'ktrnhjlf- yjvth bpltkbz% ID5125
rf,tkm 1[1-5 vv2 lkz gjlrk.xtybz 'ktrnhjljd
(ytj,[jlbvj erfpsdfnm lkbyye d vtnhf[) yjvth
bpltkbz% ID0906

ljgjkybntkyst ghbyflkt;yjcnb%

1 Rf,tkm ctntdjuj gjlrk.xtybz c cbkjdjdsv
intrthjv CEE c gjkyjcnm. ghjdtltyysv
'ktrnhjvjynf;jv- dcnhfbdftncz pfdjljv-
bpujnjdbntktv yjvth bpltkbz% 00418849- lkbyf
1-75v 3[400D/16F- bkb yjvth bpltkbz%
00418850- lkbyf 1-75v 3[400D/32F-

2 Rf,tkm ctntdjuj gjlrk.xtybz c cbkjdjdsv
intrthjv CEE d[jlbn d rjvgktrn gjcnfdrb-
vjynf; e gjnht,bntkz yjvth bpltkbz%
00418845- lkbyf 1-75v 3[400D/16F- bkb yjvth
bpltkbz% 00418846- lkbyf 1-75v 3[400D/32F-

3 Htpm,jdjq akfytw bp [hjvjybrtktdjq cnfkb
(ghjrkflrb b dbyns yt d[jlzn d j,]tv
gjcnfdrb)
yjvthf bpltkbq%
ID7618 DN 40/DIN 2566/PN 16
ID7619 DN 50/DIN 2566/PN 16
ID7620 DN 65/DIN 2566/PN 16

4 ,kjr PMU 2000
yjvth bpltkbz% 62 572 834/IP00
yjvth bpltkbz% 62 572 844/IP42

5 ,kjr PCU 2000/2
yjvth bpltkbz% 62 552 231/IP00
yjvth bpltkbz% 62 552 241/IP42

6 ,kjr PCU 2000/4
yjvth bpltkbz% 62 552 431/IP00
yjvth bpltkbz% 62 552 441/IP42

12 Gjcktghjlf;yjt 
nt[ybxtcrjt 
j,cke;bdfybt

Ytbcghfdyjcnb- rjnjhst Ds yt vj;tnt ecnhfybnm
cfvjcnjzntkmyj ljk;ys kbrdblbhjdfnmcz njkmrj
nt[ybxtcrjq cke;,jq UHEYLAJC bkb lheubvb
cgtwbfkbpbhe.obvbcz yf nt[ybxtcrjv j,cke;bdfybb
abhvfvb- bvt.obvb yf 'nj hfphtitybt abhvs
UHEYLAJC=
D ckexft djpybryjdtybz ytbcghfdyjcnb ghjcbv
cjj,obnm yfv njxye. b bcxthgsdf.oe. byajhvfwb.
j [fhfrntht ytbcghfdyjcnb- xnj,s cgtwbfkbcne gj
nt[ybxtcrjve j,cke;bdfyb. vj;yj ,skj
cjjndtncnde.obv j,hfpjv gjlujnjdbnmcz b pfrfpfnm
yflkt;fobt pfgfcyst epks b ltnfkb=
Flhtcf yfib[ nt[ybxtcrb[ ,shj erfpfys d rjywt
lfyyjq ,hji.hs= Nt[ybxtcrbt [fhfrnthbcnbrb j,j-
heljdfybz erfpfys yf abhvtyyjq nf,kbxrt c
nt[ybxtcrbvb [fhfrnthbcnbrfvb

13 Nhfycgjhnbhjdrf 
Nhfycgjhnbhjdrf j,jheljdfybz dsgjkyztncz
njkmrj d ghtlyfpyfxtyyjq lkz 'njuj egfrjdrt (bkb
d fyfkjubxyjq egfrjdrt)=

Nht,jdfybz 'rjkjubb

Dctv gjyznyj- xnj
nhfycgjhnbhjdfnm j,jheljdfybt
,tp egfrjdrb ytkmpz=
Ghjcbv Dfc cj,k.lfnm ghb 'njv
nht,jdfybz 'rjkjubb b elfkznm
bkb enbkbpbhjdfnm ghbvtyztvst
egfrjdjxyst vfnthbfks cjukfcyj
ghtlgbcfybzv=
Ghb ytj,[jlbvjcnb j,hfofqntcm
d cjjndtncnde.ott vtcnyjt
jnltktybt INTERSEROH bkb d
Dfit jnltktybt abhvs
UHEYLAJC=

14 Cjghjdjlbntkmyst 
ljrevtyns

Lfyyjt herjdjlcndj gj 'rcgkefnfwbb 96026147
HYDROMULTI CHI  ytj,[jlbvj bcgjkpjdfnm dvtcnt
cj cktle.otq ljrevtynfwbtq%

• Herjdjlcndjv gj 'rcgkefnfwbb yfcjcf CHI

• Herjdjlcndjv gj 'rcgkefnfwbb lfnxbrjd
lfdktybz/ehjdyz (tckb bvttncz d yfkbxbb)

• "ktrnhjc[tvfvb cbcntvs eghfdktybz

Tckb bvttncz d yfkbxbb%
• Herjdjlcndjv gj 'rcgkefnfwbb PMU 2000
• Herjdjlcndjv gj 'rcgkefnfwbb PCU 2000
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15 Uhfabxtcrfz [fhfrnthbcnbrf
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16 Htuekbhjdrf ecnfyjdrb e gjnht,bntkz

16=1 <kjr PFU 2000 / 'rcgkefnfwbz ,tp ,kjrf PMU 2000
Lkz ghbdtltyyjuj d ukfdt 6/1 / 'rcgkefnfwbz ,tp ,kjrf PMU 2000 hf,jxtuj cjcnjzybz ltqcnde.n
cktle.obt- ecnfyfdktvst pfdjljv-bpujnjdbntktv- gfhfvtnhs=
*  Gfhfvtnhs vjuen bpvtyznmcz gjnht,bntktv- cjukfcyj tuj cgtwbabxtcrbv gjnht,yjcnzv=
Ghjcbv Dfc dytcnb ecnfyjdktyyst Dfvb gfhfvtnhs d nf,kbwe ** =
Dsgjkytybt d% Ghtlecnfyjdjxyjv vty. 8 (gjdsitybt lfdktybz c bpvthtybtv gjlgjhf- lfdktybt ecnfyjdrb
10 ,fh)%

* Htuekbhjdrb pfdjlfbpujnjdbntkz ** Htuekbhjdrb gjnht,bntkz

Cnfnec yfcjcf
Rjyabuehfwbz% yfcjc 1-8 r pjyt A- htuekbhjdfybt 

lfdktybz| .........................................................

Cnfnec pjys
Vfrc= dscjnf gjlfxb 8 ,fh ––> Ytj,[jlbvj .........................................................

Frnefkmyjt pflfyyjt pyfxtybt 5 ,fh ––> ghbcgjcj,ktybt r 
frnefkmyjve nbge yfcjcf .........................................................

Bpvthtybt gjlgjhf drk.xtyj
Fyfkjujdsq d[jl 1 rjyabuehfwbz%

Ctycjhysq cbuyfk 4-20 vF .........................................................

Lbfgfpjy bpvthtybz 0-10 ,fh .........................................................

Fyfkjujdsq d[jl 2 rjyabuehfwbz%
Ctycjhysq cbuyfk 4-20 vF .........................................................

Lbfgfpjy bpvthtybz 0-10 ,fh .........................................................

Lbfgfpjy ON/OFF 1 ,fh .........................................................

Pfvtyf yfcjcjd drk= .........................................................

Dhtvz pfvtys yfcjcjd 00 % 05 .........................................................

Rjyabuehfwbz pjy%
Dhtvz cbcntvs 20-0 ctr .........................................................

Vby= dhtvz gthtrk.xtybz 5-0 ctr .........................................................

Chtl= dhtvz gthtrk.xtybz 10-0 ctr .........................................................

Bpvthtybt gjlgjhf drk= .........................................................

D[jl 1 0-10 ,fh .........................................................

D[jl 2 0-10 ,fh .........................................................

Ht;bv dsrk= .........................................................

D[jl 4 dsrk= .........................................................

Ublhfdkbrf gfhfkktkmyfz .........................................................

Ghbjhbntnyjcnm 1111==== .........................................................

Vby= xbckj j,jhjnjd 0 .........................................................

Vfrc= ghtltk 10 ,fh .........................................................

Vby= ghtltk 0 .........................................................

Vby= ghtltk drk= .........................................................

Vby= gjlgjh 0 .........................................................
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16=2 Bkjr PFU 2000/gthtrk.xfntkm nbgf DIP=
Htuekbhjdrb gjnht,bntkz 1

Htuekbhjdrb gjnht,bntkz 2

16=3 <kjr PMU 2000
(cvjnhb herjdjlcndj gj 'rcgkefnfwbb PMU 2000/cnh= 57-60)

17 Ukjccfhbq

17=1 Ghtltkmyst pyfxtybz

17=1=1 Ghtltkmyst pyfxtybz Hdsrk%

Ghtltkmyjt pyfxtybz Hdsrk zdkztncz ghtltkmysv
pyfxtybtv lfdktybz dsrk.xtybz yfcjcf- ghb extnt
vby=/chtlytuj dhtvtyb gthtrk.xtybz- f nfr;t
htuekbhjdrb gjcnjzyyjq dhtvtyb cbcntvs
dyenhtyytuj htuekznjhf (ht;bv yjhvfkmyjq
htuekbhjdrb)%
Ghtdsitybt 'njuj ghtltkmyjuj pyfxtybz ghb
cyb;f.otqcz gjlfxt ghbdjlbn r gjjxthtlyjve
jnrk.xt yb. yfcjcjd=
Aeyrwbz jnrk.xtybz yt yjcbn kbytqyjuj
[fhfrnthf=
Ghb bcgjkmpjdfybb lfyys[ PE nbgf EPROM
(gthtrk.xfntkm nbgf DIP 1/5 = ON) ghtltkmyjt
pyfxtybt yt gjllftncz htuekbhjdrt b dsxbckbtncz
htuekznjhjv gj cktle.obq ajhvekt%

Ghb htuekbhjdrt gthtrk.xfntkz nbgf DIP 1/5= OFF
pyfxtybt zdkztncz gthtvtyysv b rjyabuehbhetn
gjchtlcndjv PC-PMU d RAM=

C djphfcnf.obv rjkbxtcndjv
yfcjcjd ytj,[jlbvj ghbdjlbnm
'njn gfhfvtnh d cjjndtncndbt c
eckjdbzvb 'rcgkefnfwbb- 'nj
jpyfxftn- xtv ,jkmit yfcjcjd
yf[jlbncz d 'rcgkefnfwbb- ntv
vtymit cnfyjdbncz lbfgfpjy
htuekbhjdrb pflfyyjuj pyfxtybz
Hdsrk (pfinhb[jdfyyfz pjyf)

DIP1 DIP2
Dsrk.xfntkm 1 2 3 4 5 6 7 8 9 1 2 3 4
Htuekbhjdrf off off off off off on on

DIP1 DIP2
Dsrk.xfntkm 1 2 3 4 5 6 7 8 9 1 2 3 4
Htuekbhjdrf off off off off off on on

Rjyabuehfwbz Gjrfpfybt lbcgktz Tlbybwf bpvthtybz Htuekbhjdrb gjnht,bntkz
|Ghbyflkt;yjcnm r pjyfv 101

,fh

Dct yfcjcs jnyjczncz r 
pjyt F

Htuekbhjdrf pjy
nbg pjys
Vfrc= pflfyyjt pyfxtybt
Bpvthtybt gjlgjhf

111
200
216

Lfnf======================1)

Lfnf=====================2)

Fyfkjujdsq d[jl 1
Ctycjhysq/
bpvthbntkmysq cbuyfk

219 vF/,fh

Fyfkjujdsq d[jl 2
Ctycjhysq/
bpvthbntkmysq cbuyfk

220 vF/,fh

Yjgjl+Ygjl–Ysoll
HF= + Hsoll

n+1

ERFPFYBT
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17=1=2 Pflfyyjt pyfxtybt%

Htuekbhjdrf 'njuj pyfxtybz ghjbc[jlbn c
gjvjom. gthtrk.xfntkz dblf hf,jn b jyj
jghtltkztn vbybvfkmyjt lfdktybt ecnfyjdrb-
rjnjhjt d pfdbcbvjcnb jn [fhfrnthbcnbrb
djljgjnht,ktybz- gjllth;bdftncz dj dctq pjyt
gjlfxb%
Ghb edtkbxtybb hfc[jlf djls ghjbc[jlbn
gjyb;tybt lfdktybz d cbcntvt b tckb jyj gflftn
yb;t pflfyyjuj pyfxtybz lfdktybz- nj ghjbc[jlbn
drk.xtybt yfcjcjd- rjnjhst hf,jnf.n lj
ljcnb;tybz lfdktybtv pflfyyjuj pyfxtybz=

17=1=3 Ghtltkmyjt pyfxtybt Hdsrk 1%

<scnhjt dsrk.xtybt gjcktlyjuj yfcjcf= Ghb 'njn
ghjbc[jlbn cyb;tybt vbybvfkmyjuj b chtlytuj
dhtvtyb gthtrk.xtybz htuekznjhf lj 1 ctreyls=
"nf aeyrwbz jnrk.xtybz bcgjkmpetncz jcj,tyyj d
ckexfz[- rjulf ghb ,scnhs[ bpvtytybz[ yfuheprb-
lfdktybt d cbcntvt ljcnbuftn yfbdscib[ ghtltkjd=
Pyfxtybt hfcgjkfuftncz d cthtlbyt vt;le
ghtltkmysv pyfxtybtv lbfgfpjyf bpvthtybz b
pflfyysv pyfxtybtv b yt gjllftncz htuekbhjdrt
(cvjnhb nfr;t vby/chtl= dhtvz gthtrk.xtybz)
Htuekbhjdrb%

Hf,jxtt cjcnjzybt f= 
gjcnjzyyst lfyyst PE nbgf EPROM
Hf,jxtt cjcnjzybt ,= 
ghjuhfvvbhe.ncz gjnht,bntktv

17=1=4 Vfrcbvfkmyfz dscjnf gjlfxb yfcjcf 
ghb bcgjkmpjdfybb%

• ,kjrf PFU
"nj pyfxtybt zdkztncz chtlybv pyfxtybtv- rjnjhjt
bcgjkmpetncz ghb dyenhtyytv hfcxtnt pyfxtybz
dsrk.xtybz Hdsrk=
Ghb hf,jxtv cjcnjzybb (f) jyj yt gjllftncz
htuekbhjdrt b htpekmnbhetncz cktle.obv
j,hfpjv%
20% lbfgfpjyf bpvthtybz + ecnfyjdktyyjt
pflfyyjt pyfxtybt
Ghb hf,jxtv cjcnjzybb (,) = ghjuhfvvbhetncz
gjnht,bntktv

• Ghb yfkbxbb ,kjrf PMU bkb ghb ljgjkybntkmyjv
gjlrk.xtybb ,kjrf PMU - gjllftncz
ghjuhfvvbhjdfyb.%

(cvjnhb herjdjlcndj gj 'rcgkefnfwb. ,kjrf PMU
2000)

17=1=5 Vfrcbvfkmysq ghtltk%

Vfrcbvfkmyj ljgecnbvsq ghtltk hf,jxtuj
lfdktybz ecnfyjdrb= Ghb ghtdsitybb 'njuj
pyfxtybz ghjbc[jlbn ytvtlktyyjt jnrk.xtybt dct[
yfcjcjd=

Lfdktybt ecnfyjdrb = gjlgjh +
vfrcbvfkmyfz dscjnf gjlfxb
yfcjcf- yt ljk;yj ghtdsifnm
ghtltkmyj ljgecnbvjt pyfxtybt 10
,fh=

Gjlgjh%
Dtkbxbyf gjlgjhf pfdbcbn jn eckjdbq
'rcgkefnfwbb ecnfyjdrb b yt ljk;yf ghtdsifnm
gfhfvtnhs- erfpfyyst yf cnhfybwt 7=

Htuekbhjdrf pflfyyjuj pyfxtybz
vj;tn ,snm njkmrj yf 1 ,fh yb;t
htuekbhjdrb dscjns gjlfxb
yfcjcf=

17=2 Pfvtyf yfcjcjd b bcgsnfntkmysq 
wbrk

D ecnfyjdrf[ c ytcrjkmrbvb yfcjcfvb b[ pfvtyf
ghjbc[jlbn fdnjvfnbxtcrbxtcrb= Ceotcndetn 3
dfhbfynf pfvtys yfcjcjd%

17=2=1 Cvtyf yfcjcjd d pfdbcbvjcnb jn 
eckjdbq 'rcgkefnfwbb%

• yfcjc- rjnjhsq ,sk drk.xty gthdsv- ,eltn
jnrk.xty gthdsv ghb gflf.otv hfc[jlt djls

• gjckt jnrk.xtybz gjcktlytuj yfcjcf- yt
pfdbcbvj jn ghbxbys- ghb yjdjq gjnht,yjcnb
cktle.obq yfcjc ,eltn gjlrk.xty gthdsv=

17=2=2 Cvtyf yfcjcjd ghb djpybryjdtybb 
ytbcghfdyjcntq%

Ghb ds[jlt yfcjcf bp cnhjz ghjbc[jlbn tuj
jnrk.xtybt b fdnjvfnbxtcrjt drk.xtybt
cktle.otuj yfcjcf- ujnjdjuj r 'rcgkefnfwbb

17=2=3 Cvtyf yfcjcjd d aeyrwbb dhtvtyb b 
bcgsnfntkmysq wbrk%
(d rjv,byfwbb)

"njn ghjwtcc j[dfnsdftn dct yfcjcs- rjnjhst yt
yf[jlbkbcm d 'rcgkefnfwbb gjcktlybt 24 xfcf= D
htpekmnfnt- d gjcktlybt 24 xfcf- rf;lsq bp
yfcjcjd yf[jlbkcz d 'rcgkefnfwbb vbybvev 1 hfp=

17=2=4 D ecnfyjdrf[ ,tp ,kjrf PMU
• ghb htuekbhjdrt f%

gthdsq hfp xthtp 5 vbyen gjckt gjlrk.xtybz r
'ktrnhjctnb- gjckt 'njuj rf;lst 24 xfcf=

• ghb htuekbhjdrt ,%
gjgthtvtyyj

Bcgsnfntkmysq wbrk%
• ghb yektdjq yfuheprt- ghb rjnjhjq dct yfcjcs

yf[jlzncz d jnrk.xtyyjv cjcnjzybb-
ghjbc[jlbn ghj,yjt drk.xtybt rf;ljuj
ujnjdjuj r 'rcgkefnfwbb yfcjcf (jlby hfp d
ltym yf jlye ctreyle)

ERFPFYBT
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17=2=5 Dbls htuekbhjdrb

Gjcnjzyyfz%
Htuekbhjdrf d ecnfyjdrf[ lkz gjdsitybz
lfdktybz ghjbc[jlbn j,sxyj yf jcyjdfybb
gjcnjzyyjq htuekbhjdrb pflfyyjuj pyfxtybz- xnj
jpyfxftn gjllth;re gjcnjzyyjuj lfdktybz dj dctv
lbfgfpjyt htuekbhjdrb (ghjbpdjlbncz pfdjljv-
bpujnjdbntktv)=

Ghjuhtccbdyfz%
Rjvgtycfwbb lfdktybz- gjnthzyyjuj yf nhtybb d
nhe,f[- ghjbc[jlbn c gjvjom. htuekbhetvjuj
RGL=
RGL cjcnfdkztn 10% jn ecnfyjdktyyjuj pflfyyjuj
pyfxtybz b hfcghtltkztncz yf rjkbxtcndj
'rcgkefnbhetvs[ yfcjcjd=
(Htuekbhjdrf cvjnhb ukfde 6=4=2)

Yfghbvth%
Ecnfyjdrf% 3 yfcjcf 
Pflfyyjt pyfxtybt % 4 ,fh = 100%
Gjyb;tybt% yf vfrc= 90%
Lfdktybt drk= 1 yfcjcf% 3-6 ,fh

2 yfcjcf% 3-8 ,fh
3 yfcjcf% 4-0 ,fh

17=3 Dhtvz gthtrk.xtybz

17=3=1 Gjcnjzyyfz dhtvtyb cbcntvs%

Gjcnjzyyfz dhtvtyb cbcntvs jghtltkztn crjhjcnm
htfrwbb dyenhtyytuj htuekznjhf b gthtrk.xftncz
gjchtlcndjv gthtrk.xfntkz nbgf DIP vt;le
",scnhj" (2 ctr=) b "gthtvtyyj" - nfrbv j,hfpjv
ghjbc[jlbn ghbcgjcj,ktybt crjhjcnb htfubhjdfybz
ecnfyjdrb r eckjdbzv 'rcgkefnfwbb=
R ghbvthe% ghb htuekbhjdrt "gthtvtyyj" vj;yj
ds,hfnm dhtvz lj 20 ctreyl lkz njuj- xnj,s
bp,t;fnm xfcnjt drk/dsrk yfcjcjd=
Ghb htuekbhjdrt ",scnhj" ecnfyjdrf htfubhetn ,tp
ghjvtlktybz yf bpvtytybt yfuheprb= (htuekbhjdrf
cvjnhb ukfde 6=4=2)=

17=3=2 Vbybvfkmyjt dhtvz gthtrk.xtybz%

Yt htuekbhetncz hf,jnt ecnfyjdrb d ht;bvt f=
Ghb ht;bvt hf,jns , 'njn gfhfvtnh vj;tn ,snm
pfghjuhfvvbhjdfy= (Cvjnhb Herjdjlcndj gj
'rcgkefnfwbb PMU 2000)=
Ghjxyj pfghjuhfvvbhjdfyyjt pyfxtybt cjcnfdkztn
2 ctreyls b zdkztncz vbybvfkmysv ghjvt;enrjv
vt;le ldevz rjvvenfwbzvb (drk= bkb dsrk=
yfcjcjd)
Gjckt njuj- rfr ghjbpjikj drk= bkb dsrk= jlyjuj
yfcjcf- yt ghjbc[jlbn ybrfrb[ lfkmytqib[
rjvvenfwbq lj bcntxtybz 'njuj dhtvtyb=

17=3=3 Chtlytt dhtvz gthtrk.xtybz%

"nj pyfxtybt jghtltkztn chtlytt dhtvz vt;le
ldevz drk.xtybzvb= Jyj cjcnfdkztn ghb
htuekbhjdrt gthtrk.xfntkz nbgf DIP 5=

Ht;bv hf,jns f%
• vtlktyyj - 120 ctr
• ,scnhj   -  20 ctr

Ht;bv hf,jns b%
gthtvtyyj

"nbv jghtltkztncz vfrcbvfkmyfz xfcnjnf
gthtrk.xtybq/xfc

Gj ljcnb;tyb. chtlytuj
pyfxtybz vt;le "frnefkmysv
pflfyysv pyfxtybtv" b
"vfrcbvfkmysv ghtltkjv"
ghjbc[jlbn c,hjc vbybvfkmyjuj b
chtlytuj dhtvtyb gthtrk.xtybz
lj 1ctreyls=

17=3=4 Gjntywbjvtnh (pflfyyjuj pyfxtybz)

Cjukfcjdfybt% 
irfkf-lbfgfpjy rjytxyjuj lfdktybz 
(ghb 4-20vF lfnxbr)

3600 ctr

ecnfyjdktyyjt chtlytt dhtvz gthtrk.xtybq
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